ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2023097

| | TRAC | S No. | Project No. | Item | County | District | Gross Length | Net Length | Prepared By: |
|-----|--------|----------|--------------|--------|--------|-----------|--------------|------------|--------------|
| 187 | PN 186 | F064101C | 187-A-(200)T | 103678 | PINAL | SOUTHCENT | 7 | | Zarghami Ata |

| Highway Termini | Location | Work Description |
|-----------------|----------|------------------|
|-----------------|----------|------------------|

[•] CASA GRANDE - OLBERG HIGHWAY (SR 187) • SR 387 to SR 87

Pavement Rehabilitation

Printed: 8/25/2025 Page 1 of 27

BID RESULTS FOR 2023097

Bid Opening Date: 7/18/2025, Prequalification Required, Engineer Specialist: Zarghami Ata

Completion Date:

125 Working Days

The proposed project is located in Pinal County on SR 187 between mileposts 186.79 and 192.19, near Sacaton. The work consists of removing the existing asphaltic concrete surface course and replacing it with new asphaltic concrete and hot applied chip seal coat. The work also includes right turn lane widening, shoulder widening, pipe and box culvert extension, traffic signal modifications, bridge deck repair, guardrail and guardrail end terminals replacement, pavement markings, signing, and other related work.

| Bid Rank | Compared To Department Estimat | | Contractor | Extended Sum of Items |
|-------------|--------------------------------------|-----------------|-------------------------------------------------------------------------------------|--------------------------|
| | +% | \$11,172,441.75 | DEPARTMENT ESTIMATE | \$11,172,441.75 |
| 1 | -12.0% | \$9,831,499.00 | SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020- | \$9,831,499.00 |
| 2 | -11.0% | \$9,945,683.55 | FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504 | \$9,945,683.55 |
| 3 | -6.8% | \$10,408,726.00 | GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714- | \$10,408,726.00 |
| 4 | +4.4% | \$11,669,186.99 | SEMA CONSTRUCTION, INC. 7353 S EAGLE STREET CENTENNIAL, CO 80112- | \$11,669,186.99 |
| 5 | +15.0% | \$12,843,745.00 | J. BANICKI CONSTRUCTION, INC. 4720 E. Cotton Gin Loop, Suite 240 Phoenix, AZ 85040- | \$12,843,745.00 |

Winning Bidder is 12.0% Under Department Estimate (Difference = (\$1,340,942.75))

Printed: 8/25/2025 Page 2 of 27

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|--------------------|----------------------------|---------------|-------------|-----------------|------------------------------|
| 2010011 | ACRE | CLEARING AND GRUBBING | | | | |
| Bid Rank | Departmen | t Estimate | 37.000 | \$3,500.000 | \$129,500.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$3,500.000 | \$129,500.00 | +0.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$1,500.000 | \$55,500.00 | -57.1% |
| 3 | GRANITE (| CONSTRUCTION COMPANY | | \$2,500.000 | \$92,500.00 | -28.6% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$2,646.280 | \$97,912.36 | -24.4% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$2,885.000 | \$106,745.00 | -17.6% |
| 2020009 | CU.YD. | REMOVAL OF STRUCTURAL CON | CRETE | | | |
| Bid Rank | Departmen | t Estimate | 4.000 | \$1,000.000 | \$4,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$6,000.000 | \$24,000.00 | +500.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$7,500.000 | \$30,000.00 | +650.0% |
| 3 | GRANITE (| CONSTRUCTION COMPANY | | \$4,000.000 | \$16,000.00 | +300.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$1,306.070 | \$5,224.28 | +30.6% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$5,900.000 | \$23,600.00 | +490.0% |
| 2020029 | SQ.YD. | REMOVAL OF ASPHALTIC CONCR | RETE PAVEMENT | | | |
| Bid Rank | Departmen | t Estimate | 19,792.000 | \$12.000 | \$237,504.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$8.000 | \$158,336.00 | -33.3% |
| 2 | FNF CONS | TRUCTION, INC. | | \$3.250 | \$64,324.00 | -72.9% |
| 3 | GRANITE (| CONSTRUCTION COMPANY | | \$8.300 | \$164,273.60 | -30.8% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$6.830 | \$135,179.36 | -43.1% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$13.000 | \$257,296.00 | +8.3% |
| 2020041 | L.FT. | REMOVAL OF PIPE | | | | |
| Bid Rank | Departmen | t Estimate | 12.000 | \$100.000 | \$1,200.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$310.000 | \$3,720.00 | +210.0% |
| 2 | FNF CONS | STRUCTION, INC. | | \$550.000 | \$6,600.00 | +450.0% |
| 3 | GRANITE (| CONSTRUCTION COMPANY | | \$400.000 | \$4,800.00 | +300.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$221.170 | \$2,654.04 | +121.2% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$160.000 | \$1,920.00 | +60.0% |
| 2020052 | L.FT. | REMOVE (BRIDGE RAILING) | | | | |
| Bid Rank | Departmen | t Estimate | 109.000 | \$50.000 | \$5,450.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$22.000 | \$2,398.00 | -56.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$30.000 | \$3,270.00 | -40.0% |
| 3 | GRANITE (| CONSTRUCTION COMPANY | | \$500.000 | \$54,500.00 | +900.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$27.280 | \$2,973.52 | -45.4% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$355.000 | \$38,695.00 | +610.0% |
| 2020053 | EACH | REMOVE (SIGN PANEL) | | | | |
| Bid Rank | Departmen | t Estimate | 8.000 | \$200.000 | \$1,600.00 | |
| 1 | • | ASPHALT & CONSTRUCTION LLC | | \$165.000 | \$1,320.00 | -17.5% |
| 2 | FNF CONS | TRUCTION, INC. | | \$110.000 | \$880.00 | -45.0% |
| | | | | | | |

Printed: 8/25/2025 Page 3 of 27

| ltem Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|-------------------------|--------------|-----------------|------------------------------|
| 2020053 | EACH REMOVE (SIGN PANEL) | | | | |
| Bid Rank | Department Estimate | 8.000 | \$200.000 | \$1,600.00 | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$202.000 | \$1,616.00 | +1.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$396.840 | \$3,174.72 | +98.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$100.000 | \$800.00 | -50.0% |
| 2020054 | EACH REMOVE (SIGN ASSEMBLY) | | | | |
| Bid Rank | Department Estimate | 44.000 | \$350.000 | \$15,400.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | ; | \$275.000 | \$12,100.00 | -21.4% |
| 2 | FNF CONSTRUCTION, INC. | | \$460.000 | \$20,240.00 | +31.4% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$156.000 | \$6,864.00 | -55.4% |
| 4 | SEMA CONSTRUCTION, INC. | | \$396.840 | \$17,460.96 | +13.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$375.000 | \$16,500.00 | +7.1% |
| 2020055 | L.SUM REMOVE AND SALVAGE (SIG | NAL EQUIPMENT) | | | |
| Bid Rank | Department Estimate | 1.000 | \$10,000.000 | \$10,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | ; | \$8,800.000 | \$8,800.00 | -12.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$30,000.000 | \$30,000.00 | +200.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$10,400.000 | \$10,400.00 | +4.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$13,370.760 | \$13,370.76 | +33.7% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$7,075.000 | \$7,075.00 | -29.3% |
| 2020060 | EACH REMOVE AND SALVAGE (COM | NTROLLER CABINET) | | | |
| Bid Rank | Department Estimate | 1.000 | \$3,000.000 | \$3,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | , | \$1,100.000 | \$1,100.00 | -63.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$2,000.000 | \$2,000.00 | -33.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$5,000.000 | \$5,000.00 | +66.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$3,149.640 | \$3,149.64 | +5.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$730.000 | \$730.00 | -75.7% |
| 2020071 | L.FT. REMOVE GUARD RAIL | | | | |
| Bid Rank | Department Estimate | 670.000 | \$15.000 | \$10,050.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | ; | \$8.500 | \$5,695.00 | -43.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$12.000 | \$8,040.00 | -20.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$5.000 | \$3,350.00 | -66.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$5.790 | \$3,879.30 | -61.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$11.000 | \$7,370.00 | -26.7% |
| 2020084 | SQ.YD. REMOVE BITUMINOUS PAVE | MENT (MILLING) (2 1/2") | | | |
| Bid Rank | Department Estimate | 46,429.000 | \$3.000 | \$139,287.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | ; | \$3.250 | \$150,894.25 | +8.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$3.750 | \$174,108.75 | +25.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$3.250 | \$150,894.25 | +8.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$3.480 | \$161,572.92 | +16.0% |

Printed: 8/25/2025 Page 4 of 27

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|--------------------------|--------------|-----------------|------------------------------|
| 2020084 | SQ.YD. REMOVE BITUMINOUS PAV | EMENT (MILLING) (2 1/2") | | | |
| Bid Rank | Department Estimate | 46,429.000 | \$3.000 | \$139,287.00 | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$3.600 | \$167,144.40 | +20.0% |
| 2020117 | EACH REMOVE (METER PEDESTA | L AND FOUNDATION) | | | |
| Bid Rank | Department Estimate | 1.000 | \$1,500.000 | \$1,500.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$825.000 | \$825.00 | -45.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$2,500.000 | \$2,500.00 | +66.7% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$5,600.000 | \$5,600.00 | +273.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$2,301.050 | \$2,301.05 | +53.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$450.000 | \$450.00 | -70.0% |
| 2020118 | EACH REMOVE (GUARDRAIL END | TERMINAL) | | | |
| Bid Rank | Department Estimate | 4.000 | \$800.000 | \$3,200.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$275.000 | \$1,100.00 | -65.6% |
| 2 | FNF CONSTRUCTION, INC. | | \$1,250.000 | \$5,000.00 | +56.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$766.000 | \$3,064.00 | -4.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$910.740 | \$3,642.96 | +13.8% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$340.000 | \$1,360.00 | -57.5% |
| 2020174 | L.SUM REMOVE (SIGNAL CONDUC | TORS) | | | |
| Bid Rank | Department Estimate | 1.000 | \$3,000.000 | \$3,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | | \$380.000 | \$380.00 | -87.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$10,000.000 | \$10,000.00 | +233.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$402.000 | \$402.00 | -86.6% |
| 4 | SEMA CONSTRUCTION, INC. | | \$12,638.420 | \$12,638.42 | +321.3% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$470.000 | \$470.00 | -84.3% |
| 2030301 | CU.YD. ROADWAY EXCAVATION | | | | |
| Bid Rank | Department Estimate | 31,029.000 | \$33.000 | \$1,023,957.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$43.000 | \$1,334,247.00 | +30.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$17.000 | \$527,493.00 | -48.5% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$30.000 | \$930,870.00 | -9.1% |
| 4 | SEMA CONSTRUCTION, INC. | | \$35.830 | \$1,111,769.07 | +8.6% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$48.000 | \$1,489,392.00 | +45.5% |
| 2050001 | SQ.YD. GRADING ROADWAY FOR P | PAVEMENT | | | |
| Bid Rank | Department Estimate | 13,924.000 | \$15.000 | \$208,860.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$8.500 | \$118,354.00 | -43.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$20.000 | \$278,480.00 | +33.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$7.500 | \$104,430.00 | -50.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$10.230 | \$142,442.52 | -31.8% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$3.250 | \$45,253.00 | -78.3% |

Printed: 8/25/2025 Page 5 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| Bid Rank Department Estimate 15,663.000 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 \$1,253,040.00 | ltem Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------|-------------------------------------|------------|-------------|-----------------|------------------------------|
| SUNILAND ASPHALT & CONSTRUCTION LLC | 3030022 | CU.YD. AGGREGATE BASE, CLASS 2 | | | | |
| 2 | Bid Rank | Department Estimate | 15,663.000 | \$80.000 | \$1,253,040.00 | |
| 3 | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$70.000 | \$1,096,410.00 | -12.5% |
| 4 SEMA CONSTRUCTION, INC. \$61.080 \$956.696,6/4 -23.7% 4040111 TON BITUMINOUS TACK COAT \$65.000 \$1,018,095.00 -18.8% BIG Rank Department Estimate 46,000 \$600,000 \$27,600.00 -18.3% 1 SUNLAND ASPHALT & CONSTRUCTION LIC \$490,000 \$22,540.00 -18.3% 2 FNF CONSTRUCTION, INC. \$675,000 \$31,050.00 +12.5% 3 GRANITE CONSTRUCTION, INC. \$975,800 \$21,620.00 -21.7% 4 SEMA CONSTRUCTION, INC. \$955,000 \$25,300.00 -8.3% 4040116 HOUR APPLY BITUMINOUS TACK COAT \$150,000 \$45,000.00 -8.3% 11 SUNLAND ASPHALT & CONSTRUCTION LIC \$135,000 \$45,000.00 -40.0% 2 FNF CONSTRUCTION, INC. \$135,000 \$27,000.00 -40.0% 3 GRANTIE CONSTRUCTION, INC. \$135,000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$485,000 \$87,300.00 +91.% 5 J. BARRIC | 2 | FNF CONSTRUCTION, INC. | | \$47.000 | \$736,161.00 | -41.3% |
| 5 J. BANICKI CONSTRUCTION, INC. \$65,000 \$1,018,095,00 -18.8% 4001111 TON BIUMINNOUS TACK COAT S600,000 \$27,600.00 BIR Rank Department Estimate 46,000 \$600,000 \$27,600.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$490,000 \$22,540.00 +18.3% 2 FNF CONSTRUCTION, INC. \$675,000 \$31,050.00 +21.7% 3 GRANITE CONSTRUCTION, INC. \$975,680 \$44,881.28 +62.6% 5 J. BANICKI CONSTRUCTION, INC. \$975,680 \$55,000.00 +3.3% 4040116 HOUR APPLY BITUMINOUS TACK COAT BIR Rank Department Estimate 180.000 \$250.000 \$45,000.00 -30.0% 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$175,000 \$31,500.00 -30.0% -40.0% 2 FNF CONSTRUCTION, INC. \$135,000 \$24,300.00 -40.0% 3 GRANITE CONSTRUCTION COMPANY \$150,000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$422.800 \$76,104.00 | 3 | GRANITE CONSTRUCTION COMPANY | | \$58.500 | \$916,285.50 | -26.9% |
| A040111 TON BITUMINOUS TACK COAT Bit Rank Department Estimate 46,000 \$600,000 \$27,600,000 18,3% 18,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$22,540,000 \$1,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$21,600,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25,300,000 \$25 | 4 | SEMA CONSTRUCTION, INC. | | \$61.080 | \$956,696.04 | -23.7% |
| Bid Rank | 5 | J. BANICKI CONSTRUCTION, INC. | | \$65.000 | \$1,018,095.00 | -18.8% |
| 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$490.000 \$22,540.00 -18.3% 2 FNF CONSTRUCTION, INC. \$675.000 \$31,050.00 +12.5% 3 GRANITE CONSTRUCTION COMPANY \$470.000 \$21,620.00 -21.7% 4 SEMA CONSTRUCTION, INC. \$975.680 \$44,881.28 +62.6% 5 J. BANICKI CONSTRUCTION, INC. \$550.000 \$25,300.00 -8.3% 4040116 HOUR APPLY BITUMINOUS TACK COAT BID Rank Department Estimate 180.000 \$25,000 \$45,000.00 -8.3% 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$31,500.00 -30.0% 2 FINE CONSTRUCTION, INC. \$150.000 \$27,000.00 -46.0% 3 GRANITE CONSTRUCTION, INC. \$485.000 \$87,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$485.000 \$87,000.00 +94.0% 4040125 TON FOG COAT FOG COAT \$100.00 \$45,000.00 -26.0% BID Rank Department Estimate 45.000 \$10.00 | 4040111 | TON BITUMINOUS TACK COAT | | | | |
| 2 | Bid Rank | Department Estimate | 46.000 | \$600.000 | \$27,600.00 | |
| SATOLOGY | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$490.000 | \$22,540.00 | -18.3% |
| 4 SEMA CONSTRUCTION, INC. \$975.680 \$44,881.28 +62.6% 5 J. BANICKI CONSTRUCTION, INC. \$550.000 \$25,300.00 -8.3% 4040116 HOUR APPLY BITUMINOUS TACK COAT BIGRANK Department Estimate 180.000 \$250.000 \$45,000.00 -30.0% 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$31,500.00 -30.0% -46.0% 2 FNF CONSTRUCTION, INC. \$135.000 \$224,300.00 -46.0% 3 GRANITE CONSTRUCTION, INC. \$150.000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$422.800 \$76,104.00 +69.1% 5 J. BANICKI CONSTRUCTION, INC. \$485.000 \$87,300.00 +94.0% 4040125 TON FOG COAT FOR CONSTRUCTION, INC. \$685.000 \$33,300.00 -26.0% 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$885.00 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION, INC. \$935. | 2 | FNF CONSTRUCTION, INC. | | \$675.000 | \$31,050.00 | +12.5% |
| 5 J. BANICKI CONSTRUCTION, INC. \$550.000 \$25,300.00 -8.3% 4040116 HOUR APPLY BITUMINOUS TACK COAT HOUR APPLY BITUMINOUS TACK COAT Bid Rank Department Estimate 180.000 \$250.000 \$45,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$31,500.00 -30.0% 2 FNF CONSTRUCTION, INC. \$135.000 \$22,000.00 -46.0% 3 GRANITE CONSTRUCTION COMPANY \$150.000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$422.800 \$76.104.00 +69.1% 5 J. BANICKI CONSTRUCTION, INC. \$485.000 \$87,300.00 +94.0% 4040125 TON FOG COAT FOG COAT \$1,000.000 \$45,000.00 -1 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$885.000 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION | 3 | GRANITE CONSTRUCTION COMPANY | | \$470.000 | \$21,620.00 | -21.7% |
| A040116 | 4 | SEMA CONSTRUCTION, INC. | | \$975.680 | \$44,881.28 | +62.6% |
| Bid Rank Department Estimate 180.000 \$250.000 \$45,000.00 1 | 5 | J. BANICKI CONSTRUCTION, INC. | | \$550.000 | \$25,300.00 | -8.3% |
| 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$175,000 \$31,500.00 -30.0% 2 FNF CONSTRUCTION, INC. \$135,0000 \$24,300.00 -46.0% 3 GRANITE CONSTRUCTION COMPANY \$150,000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$422,800 \$76,104.00 +69.1% 5 J. BANICKI CONSTRUCTION, INC. \$485.000 \$87,300.00 +94.0% 4040125 TON FOG COAT FOR CONSTRUCTION, INC. \$45.000 \$45,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$685.000 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION COMPANY \$785.000 \$35,325.00 -21.5% 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$14,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL \$2.300 \$176,897.60 -8.0% Bid Rank Department Estimate | 4040116 | HOUR APPLY BITUMINOUS TACK COAT | Г | | | |
| 2 FNF CONSTRUCTION, INC. \$135,000 \$24,300.00 -46.0% 3 GRANITE CONSTRUCTION COMPANY \$150,000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$422.800 \$76,104.00 +69.1% 5 J. BANICKI CONSTRUCTION, INC. \$485.000 \$87,300.00 +94.0% 4040125 TON FOG COAT FOG COAT \$485.000 \$87,300.00 +94.0% Bid Rank Department Estimate 45.000 \$1,000.000 \$45,000.00 -26.0% 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$685.000 \$33,825.00 -31.5% 3 GRANITE CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 4 SEMA CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL \$2.300 \$176,897.60 -8.0% Bid Rank Department Estimate 76,912.000 \$2.500 \$192,280.00 -8.0% 2 </td <td>Bid Rank</td> <td>Department Estimate</td> <td>180.000</td> <td>\$250.000</td> <td>\$45,000.00</td> <td></td> | Bid Rank | Department Estimate | 180.000 | \$250.000 | \$45,000.00 | |
| 3 GRANITE CONSTRUCTION COMPANY \$150,000 \$27,000.00 -40.0% 4 SEMA CONSTRUCTION, INC. \$422,800 \$76,104.00 +69.1% 5 J. BANICKI CONSTRUCTION, INC. \$485,000 \$87,300.00 +94.0% 4040125 TON FOG COAT *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** *** <td< td=""><td>1</td><td>SUNLAND ASPHALT & CONSTRUCTION LLC</td><td></td><td>\$175.000</td><td>\$31,500.00</td><td>-30.0%</td></td<> | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$175.000 | \$31,500.00 | -30.0% |
| 4 SEMA CONSTRUCTION, INC. \$422.800 \$76,104.00 +69.1% 5 J. BANICKI CONSTRUCTION, INC. \$485.000 \$87,300.00 +94.0% 4040125 TON FOG COAT FOG COAT FOR CONSTRUCTION COMPANY \$1,000.000 \$45,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$685,000 \$33,825.00 -31.5% 3 GRANITE CONSTRUCTION, INC. \$985,310 \$42,088.95 -6.5% 4 SEMA CONSTRUCTION, INC. \$990.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL \$2,300 \$192,280.00 -8.0% Bid Rank Department Estimate 76,912.000 \$2.500 \$192,280.00 -8.0% 2 FNF CONSTRUCTION, INC. \$2.300 \$176,897.60 -8.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.200 \$20.06 8.0% 4 SEMA | 2 | FNF CONSTRUCTION, INC. | | \$135.000 | \$24,300.00 | -46.0% |
| 5 J. BANICKI CONSTRUCTION, INC. \$485.000 \$87,300.00 +94.0% 4040125 TON FOG COAT FOG COAT \$1,000.000 \$45,000.00 Bid Rank Department Estimate 45.000 \$1,000.000 \$45,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$685.000 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION, COMPANY \$785.000 \$35,325.00 -21.5% 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL \$92.000 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.300 \$176,897.60 -8.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.750 \$2 | 3 | GRANITE CONSTRUCTION COMPANY | | \$150.000 | \$27,000.00 | -40.0% |
| A040125 | 4 | SEMA CONSTRUCTION, INC. | | \$422.800 | \$76,104.00 | +69.1% |
| Bid Rank Department Estimate 45.000 \$1,000.000 \$45,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$685.000 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION COMPANY \$785.000 \$35,325.00 -21.5% 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL \$920.000 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 4 SEMA CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL \$1,437.000 <td< td=""><td>5</td><td>J. BANICKI CONSTRUCTION, INC.</td><td></td><td>\$485.000</td><td>\$87,300.00</td><td>+94.0%</td></td<> | 5 | J. BANICKI CONSTRUCTION, INC. | | \$485.000 | \$87,300.00 | +94.0% |
| 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$740.000 \$33,300.00 -26.0% 2 FNF CONSTRUCTION, INC. \$685.000 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION, INC. \$785.000 \$35,325.00 -21.5% 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL SQ.YD. \$920.000 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL \$1,437.000 \$0.200 \$10,287.40 Bid Rank Department Estimate 51,437.000 \$0.200 \$5,143.70 -50.0% | 4040125 | TON FOG COAT | | | | |
| 2 FNF CONSTRUCTION, INC. \$685.000 \$30,825.00 -31.5% 3 GRANITE CONSTRUCTION COMPANY \$785.000 \$35,325.00 -21.5% 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL SQ.YD. \$0.912.000 \$2.500 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL \$2.750 \$211,508.00 +10.0% Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | Bid Rank | Department Estimate | 45.000 | \$1,000.000 | \$45,000.00 | |
| 3 GRANITE CONSTRUCTION COMPANY \$785.000 \$35,325.00 -21.5% 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL SQ.YD. COVER MATERIAL Bid Rank Department Estimate 76,912.000 \$2.500 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL \$10,287.40 \$10,287.40 \$10,287.40 Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 \$50.0% | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$740.000 | \$33,300.00 | -26.0% |
| 4 SEMA CONSTRUCTION, INC. \$935.310 \$42,088.95 -6.5% 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL SQ.YD. COVER MATERIAL Bid Rank Department Estimate 76,912.000 \$2.500 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL BIG Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 2 | FNF CONSTRUCTION, INC. | | \$685.000 | \$30,825.00 | -31.5% |
| 5 J. BANICKI CONSTRUCTION, INC. \$920.000 \$41,400.00 -8.0% 4040159 SQ.YD. COVER MATERIAL SUNDAM DEPARTMENT Estimate 76,912.000 \$2.500 \$192,280.00 Bid Rank Department Estimate 76,912.000 \$2.500 \$176,897.60 -8.0% 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.300 \$176,897.60 -8.0% 3 GRANITE CONSTRUCTION, INC. \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL \$1,437.000 \$0.200 \$10,287.40 Bid Rank Department Estimate 51,437.000 \$0.100 \$5,143.70 -50.0% | 3 | GRANITE CONSTRUCTION COMPANY | | \$785.000 | \$35,325.00 | -21.5% |
| 4040159 SQ.YD. COVER MATERIAL Bid Rank Department Estimate 76,912.000 \$2.500 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL S0.200 \$10,287.40 Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 4 | SEMA CONSTRUCTION, INC. | | \$935.310 | \$42,088.95 | -6.5% |
| Bid Rank Department Estimate 76,912.000 \$2.500 \$192,280.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL 51,437.000 \$0.200 \$10,287.40 Bid Rank Department Estimate 51,437.000 \$0.100 \$5,143.70 -50.0% | 5 | J. BANICKI CONSTRUCTION, INC. | | \$920.000 | \$41,400.00 | -8.0% |
| 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.300 \$176,897.60 -8.0% 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 4040159 | SQ.YD. COVER MATERIAL | | | | |
| 2 FNF CONSTRUCTION, INC. \$2.000 \$153,824.00 -20.0% 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | Bid Rank | Department Estimate | 76,912.000 | \$2.500 | \$192,280.00 | |
| 3 GRANITE CONSTRUCTION COMPANY \$2.300 \$176,897.60 -8.0% 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$2.300 | \$176,897.60 | -8.0% |
| 4 SEMA CONSTRUCTION, INC. \$2.700 \$207,662.40 +8.0% 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 2 | FNF CONSTRUCTION, INC. | | \$2.000 | \$153,824.00 | -20.0% |
| 5 J. BANICKI CONSTRUCTION, INC. \$2.750 \$211,508.00 +10.0% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 3 | GRANITE CONSTRUCTION COMPANY | | \$2.300 | \$176,897.60 | -8.0% |
| 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 4 | SEMA CONSTRUCTION, INC. | | \$2.700 | \$207,662.40 | +8.0% |
| Bid Rank Department Estimate 51,437.000 \$0.200 \$10,287.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 5 | J. BANICKI CONSTRUCTION, INC. | | \$2.750 | \$211,508.00 | +10.0% |
| 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.100 \$5,143.70 -50.0% | 4040165 | SQ.YD. BLOTTER MATERIAL | | | | |
| | Bid Rank | Department Estimate | 51,437.000 | \$0.200 | \$10,287.40 | |
| 2 FNF CONSTRUCTION, INC. \$0.050 \$2,571.85 -75.0% | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$0.100 | \$5,143.70 | -50.0% |
| | 2 | FNF CONSTRUCTION, INC. | | \$0.050 | \$2,571.85 | -75.0% |

Printed: 8/25/2025 Page 6 of 27

| Item Number | Unit of Measure Item D | Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate | |
|----------------|---------------------------|-------------------------------|--------------------|------------|-----------------|------------------------------|--|
| 4040165 | SQ.YD. BLOT | TER MATERIAL | | | | | |
| Bid Rank | Department Estimate | • | 51,437.000 | \$0.200 | \$10,287.40 | | |
| 3 | GRANITE CONSTRU | JCTION COMPANY | | \$0.060 | \$3,086.22 | -70.0% | |
| 4 | SEMA CONSTRUCT | ION, INC. | | \$0.070 | \$3,600.59 | -65.0% | |
| 5 | J. BANICKI CONSTR | RUCTION, INC. | | \$0.070 | \$3,600.59 | -65.0% | |
| 4040234 | TON ASPH | IALT BINDER (PG 76-22 PM) | | | | | |
| Bid Rank | Department Estimate | • | 1,536.000 | \$900.000 | \$1,382,400.00 | | |
| 1 | SUNLAND ASPHALT | & CONSTRUCTION LLC | | \$635.000 | \$975,360.00 | -29.4% | |
| 2 | FNF CONSTRUCTION | DN, INC. | | \$665.000 | \$1,021,440.00 | -26.1% | |
| 3 | GRANITE CONSTRU | JCTION COMPANY | | \$739.000 | \$1,135,104.00 | -17.9% | |
| 4 | SEMA CONSTRUCT | ION, INC. | | \$969.180 | \$1,488,660.48 | +7.7% | |
| 5 | J. BANICKI CONSTR | RUCTION, INC. | | \$985.500 | \$1,513,728.00 | +9.5% | |
| 4040288 | TON ASPH | IALT BINDER (PG 70-22 TR+) | | | | | |
| Bid Rank | Department Estimate | • | 145.000 | \$950.000 | \$137,750.00 | | |
| 1 | SUNLAND ASPHALT | & CONSTRUCTION LLC | | \$695.000 | \$100,775.00 | -26.8% | |
| 2 | FNF CONSTRUCTION | DN, INC. | | \$725.000 | \$105,125.00 | -23.7% | |
| 3 | GRANITE CONSTRU | JCTION COMPANY | | \$832.000 | \$120,640.00 | -12.4% | |
| 4 | SEMA CONSTRUCT | ION, INC. | | \$990.740 | \$143,657.30 | +4.3% | |
| 5 | J. BANICKI CONSTR | RUCTION, INC. | | \$975.000 | \$141,375.00 | +2.6% | |
| 4160004 | TON ASPH | IALTIC CONCRETE (3/4" MIX) (E | END PRODUCT) (SPEC | CIAL MIX) | | | |
| Bid Rank | Department Estimate | • | 30,727.000 | \$75.000 | \$2,304,525.00 | | |
| 1 | SUNLAND ASPHALT | & CONSTRUCTION LLC | | \$59.000 | \$1,812,893.00 | -21.3% | |
| 2 | FNF CONSTRUCTION | DN, INC. | | \$65.000 | \$1,997,255.00 | -13.3% | |
| 3 | GRANITE CONSTRU | JCTION COMPANY | | \$90.000 | \$2,765,430.00 | +20.0% | |
| 4 | SEMA CONSTRUCT | ION, INC. | | \$102.770 | \$3,157,813.79 | +37.0% | |
| 5 | J. BANICKI CONSTR | RUCTION, INC. | | \$102.000 | \$3,134,154.00 | +36.0% | |
| 4160031 | TON MINE | RAL ADMIXTURE | | | | | |
| Bid Rank | Department Estimate | • | 292.000 | \$90.000 | \$26,280.00 | | |
| 1 | SUNLAND ASPHALT | & CONSTRUCTION LLC | | \$90.000 | \$26,280.00 | +0.0% | |
| 2 | FNF CONSTRUCTION | DN, INC. | | \$90.000 | \$26,280.00 | +0.0% | |
| 3 | GRANITE CONSTRU | JCTION COMPANY | | \$90.000 | \$26,280.00 | +0.0% | |
| 4 | SEMA CONSTRUCT | ION, INC. | | \$90.000 | \$26,280.00 | +0.0% | |
| 5 | J. BANICKI CONSTR | RUCTION, INC. | | \$90.000 | \$26,280.00 | +0.0% | |
| 5010011 | L.FT. PIPE, | CORRUGATED METAL, 24" | | | | | |
| Bid Rank | Department Estimate | • | 58.000 | \$300.000 | \$17,400.00 | | |
| 1 | • | & CONSTRUCTION LLC | | \$520.000 | \$30,160.00 | +73.3% | |
| 2 | FNF CONSTRUCTION | | | \$500.000 | \$29,000.00 | +66.7% | |
| 3 | GRANITE CONSTRU | | | \$222.000 | \$12,876.00 | -26.0% | |
| 4 | SEMA CONSTRUCT | ION, INC. | | \$114.780 | \$6,657.24 | -61.7% | |
| | | | | | | | |

Printed: 8/25/2025 *** Bid Tabs for Proposal Pamphlet 2023097 *** Page 7 of 27

Item Unit of **Compared To** Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 5010011 L.FT. PIPE. CORRUGATED METAL. 24" Bid Rank Department Estimate 58.000 \$300.000 \$17,400.00 J. BANICKI CONSTRUCTION, INC. \$450.000 \$26,100.00 +50.0% 5010017 PIPE, CORRUGATED METAL, 30" I FT Bid Rank Department Estimate 32.000 \$350.000 \$11,200,00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$585.000 \$18,720.00 +67.1% 2 FNF CONSTRUCTION, INC. \$505.000 \$16,160.00 +44.3% 3 **GRANITE CONSTRUCTION COMPANY** \$7,488.00 -33.1% \$234.000 4 SEMA CONSTRUCTION, INC. \$183.860 \$5,883.52 -47.5% J. BANICKI CONSTRUCTION, INC. \$340.000 \$10,880.00 -2.9% 5011023 L.FT. PIPE, REINFORCED CONCRETE, CLASS III, 24" Bid Rank Department Estimate 20.000 \$400.000 \$8,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1.375.000 \$27.500.00 +243.8% 2 FNF CONSTRUCTION, INC. \$650.000 \$13,000.00 +62.5% 3 GRANITE CONSTRUCTION COMPANY \$515.000 \$10,300.00 +28.8% 4 SEMA CONSTRUCTION, INC. \$187.320 \$3.746.40 -53.2% J. BANICKI CONSTRUCTION. INC. \$360.000 \$7.200.00 -10.0% 5014024 FLARED END SECTION, 24" (C-13.25) EACH Bid Rank 4.000 Department Estimate \$1,500.000 \$6,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2,200.000 \$8,800.00 +46.7% 2 FNF CONSTRUCTION, INC. \$1,500.000 \$6,000.00 +0.0% 3 **GRANITE CONSTRUCTION COMPANY** \$780.000 \$3,120.00 -48.0% 4 SEMA CONSTRUCTION, INC. \$820.070 \$3.280.28 -45.3% J. BANICKI CONSTRUCTION, INC. \$1,200,000 \$4.800.00 -20.0% 5014030 FACH FLARED END SECTION, 30" (C-13.25) Bid Rank Department Estimate 2.000 \$1,700,000 \$3,400.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.500.000 \$5.000.00 +47.1% 2 FNF CONSTRUCTION, INC. \$1,750.000 \$3,500.00 +2.9% 3 **GRANITE CONSTRUCTION COMPANY** -39.7% \$1,025.000 \$2,050.00 SEMA CONSTRUCTION, INC. 4 \$1,258.360 \$2,516.72 -26.0% 5 J. BANICKI CONSTRUCTION, INC. \$1,575.000 \$3,150.00 -7.4% 5014124 EACH FLARED END SECTION (24") (C-13.20) Bid Rank 1.000 Department Estimate \$2,000.000 \$2,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$3,000.000 \$3,000.00 +50.0% 2 FNF CONSTRUCTION, INC. \$3,250.000 \$3,250.00 +62.5% 3 **GRANITE CONSTRUCTION COMPANY** \$3,525.000 \$3,525.00 +76.3% 4 SEMA CONSTRUCTION, INC. \$3,387.890 \$3,387.89 +69.4% 5 J. BANICKI CONSTRUCTION, INC. \$3,700.000 \$3,700.00 +85.0%

Printed: 8/25/2025 Page 8 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate | |
|----------------|--------------------|-------------------------------|---------------------|--------------|-----------------|------------------------------|--|
| 6011150 | L.FT. | SINGLE SLOPE BRIDGE CONCRET | E BARRIER AND TRANS | SITION (38") | | | |
| Bid Rank | Department | Estimate | 157.000 | \$350.000 | \$54,950.00 | | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$935.000 | \$146,795.00 | +167.1% | |
| 2 | FNF CONS | TRUCTION, INC. | | \$600.000 | \$94,200.00 | +71.4% | |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$465.000 | \$73,005.00 | +32.9% | |
| 4 | SEMA CON | STRUCTION, INC. | | \$524.300 | \$82,315.10 | +49.8% | |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$680.000 | \$106,760.00 | +94.3% | |
| 6070038 | EACH | SLIP BASE | | | | | |
| Bid Rank | Department | Estimate | 42.000 | \$350.000 | \$14,700.00 | | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$350.000 | \$14,700.00 | +0.0% | |
| 2 | FNF CONS | TRUCTION, INC. | | \$370.000 | \$15,540.00 | +5.7% | |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$379.000 | \$15,918.00 | +8.3% | |
| 4 | SEMA CON | STRUCTION, INC. | | \$396.840 | \$16,667.28 | +13.4% | |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$475.000 | \$19,950.00 | +35.7% | |
| 6070055 | L.FT. | SIGN POST (PERFORATED) (2 1/2 | S) | | | | |
| Bid Rank | Department | Estimate | 362.000 | \$16.000 | \$5,792.00 | | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$25.000 | \$9,050.00 | +56.3% | |
| 2 | FNF CONS | TRUCTION, INC. | | \$10.500 | \$3,801.00 | -34.4% | |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$14.000 | \$5,068.00 | -12.5% | |
| 4 | SEMA CON | STRUCTION, INC. | | \$26.460 | \$9,578.52 | +65.4% | |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$13.000 | \$4,706.00 | -18.8% | |
| 6070057 | L.FT. | SIGN POST (PERFORATED) (2 1/2 | Γ) | | | | |
| Bid Rank | Department | Estimate | 535.000 | \$24.000 | \$12,840.00 | | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$35.000 | \$18,725.00 | +45.8% | |
| 2 | FNF CONS | TRUCTION, INC. | | \$15.750 | \$8,426.25 | -34.4% | |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$25.500 | \$13,642.50 | +6.3% | |
| 4 | SEMA CON | STRUCTION, INC. | | \$33.070 | \$17,692.45 | +37.8% | |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$20.000 | \$10,700.00 | -16.7% | |
| 6070060 | EACH | FOUNDATION FOR SIGN POST (CO | NCRETE) | | | | |
| Bid Rank | Department | Estimate | 72.000 | \$400.000 | \$28,800.00 | | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$240.000 | \$17,280.00 | -40.0% | |
| 2 | FNF CONS | TRUCTION, INC. | | \$370.000 | \$26,640.00 | -7.5% | |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$230.000 | \$16,560.00 | -42.5% | |
| 4 | SEMA CON | STRUCTION, INC. | | \$529.120 | \$38,096.64 | +32.3% | |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$475.000 | \$34,200.00 | +18.8% | |
| 6080005 | SQ.FT. | REGULATORY, WARNING, OR MAR | KER SIGN PANEL | | | | |
| Bid Rank | Department | Estimate | 410.000 | \$28.000 | \$11,480.00 | | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$45.000 | \$18,450.00 | +60.7% | |
| 2 | FNF CONS | TRUCTION, INC. | | \$24.250 | \$9,942.50 | -13.4% | |

Printed: 8/25/2025 Page 9 of 27

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|---------------------------|-------------|-----------------|------------------------------|
| 6080005 | SQ.FT. REGULATORY, WARNING, O | OR MARKER SIGN PANEL | | | |
| Bid Rank | Department Estimate | 410.000 | \$28.000 | \$11,480.00 | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$36.000 | \$14,760.00 | +28.6% |
| 4 | SEMA CONSTRUCTION, INC. | | \$46.300 | \$18,983.00 | +65.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$32.000 | \$13,120.00 | +14.3% |
| 6080025 | SQ.FT. FLAT SHEET ALUMINUM SIG | GN PANEL | | | |
| Bid Rank | Department Estimate | 178.000 | \$30.000 | \$5,340.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION L | LC | \$45.000 | \$8,010.00 | +50.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$28.500 | \$5,073.00 | -5.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$62.000 | \$11,036.00 | +106.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$66.140 | \$11,772.92 | +120.5% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$40.000 | \$7,120.00 | +33.3% |
| 6080055 | EACH SIGN PANEL (RELOCATE) | | | | |
| Bid Rank | Department Estimate | 2.000 | \$500.000 | \$1,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION L | LC | \$210.000 | \$420.00 | -58.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$250.000 | \$500.00 | -50.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$345.000 | \$690.00 | -31.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$661.400 | \$1,322.80 | +32.3% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$205.000 | \$410.00 | -59.0% |
| 6110201 | L.FT. METAL HANDRAIL | | | | |
| Bid Rank | Department Estimate | 22.000 | \$100.000 | \$2,200.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION L | LC | \$105.000 | \$2,310.00 | +5.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$140.000 | \$3,080.00 | +40.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$145.000 | \$3,190.00 | +45.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$178.320 | \$3,923.04 | +78.3% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$192.000 | \$4,224.00 | +92.0% |
| 7015010 | L.FT. TEMPORARY CONCRETE B | SARRIER (INSTALLATION AND | REMOVAL) | | |
| Bid Rank | Department Estimate | 4,980.000 | \$30.000 | \$149,400.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION L | LC | \$26.000 | \$129,480.00 | -13.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$30.000 | \$149,400.00 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$30.000 | \$149,400.00 | +0.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$30.370 | \$151,242.60 | +1.2% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$27.000 | \$134,460.00 | -10.0% |
| 7015020 | EACH TEMPORARY IMPACT ATTE | NUATORS (INSTALLATION AN | D REMOVAL) | | |
| Bid Rank | Department Estimate | 14.000 | \$3,000.000 | \$42,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION L | LC | \$3,000.000 | \$42,000.00 | +0.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$4,000.000 | \$56,000.00 | +33.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$3,385.000 | \$47,390.00 | +12.8% |
| 4 | SEMA CONSTRUCTION, INC. | | \$3,416.890 | \$47,836.46 | +13.9% |

Printed: 8/25/2025 *** Bid Tabs for Proposal Pamphlet 2023097 *** Page 10 of 27

Item Unit of **Compared To** Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount** EACH 7015020 TEMPORARY IMPACT ATTENUATORS (INSTALLATION AND REMOVAL) Bid Rank Department Estimate 14.000 \$3,000.000 \$42,000.00 J. BANICKI CONSTRUCTION, INC. \$2,150.000 \$30,100.00 -28.3% 7015052 I FT OBLITERATE PAVEMENT MARKING (STRIPE) Bid Rank Department Estimate 60.000 \$10.000 \$600.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$66.000 \$3,960.00 +560.0% 2 FNF CONSTRUCTION, INC. \$15.000 \$900.00 +50.0% 3 **GRANITE CONSTRUCTION COMPANY** \$1,380.00 +130.0% \$23.000 4 SEMA CONSTRUCTION, INC. \$16.230 \$973.80 +62.3% J. BANICKI CONSTRUCTION, INC. \$14.000 \$840.00 +40.0% 7016020 L.FT.-DAY TEMPORARY CONCRETE BARRIER (IN USE) Bid Rank Department Estimate 114,490.000 \$0.100 \$11,449.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.110 \$12.593.90 +10.0% 2 FNF CONSTRUCTION, INC. \$0.150 \$17.173.50 +50.0% 3 GRANITE CONSTRUCTION COMPANY \$0.130 \$14.883.70 +30.0% 4 SEMA CONSTRUCTION, INC. \$0.130 \$14.883.70 +30.0% J. BANICKI CONSTRUCTION, INC. \$0.150 \$17.173.50 +50.0% 7016021 EACH-DAY TEMPORARY IMPACT ATTENUATORS (IN USE) Bid Rank Department Estimate 338.000 \$40.000 \$13,520.00 \$33.000 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$11,154.00 -17.5% 2 FNF CONSTRUCTION, INC. \$65.000 \$21,970.00 +62.5% 3 **GRANITE CONSTRUCTION COMPANY** \$38.000 \$12,844.00 -5.0% 4 SEMA CONSTRUCTION, INC. \$37.970 \$12.833.86 -5.1% J. BANICKI CONSTRUCTION, INC. \$45,000 \$15.210.00 +12.5% 7016030 EACH-DAY BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER) Bid Rank 28.609.000 Department Estimate \$0.400 \$11,443,60 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.200 \$5.721.80 -50.0% 2 FNF CONSTRUCTION, INC. \$0.400 \$11,443.60 +0.0% 3 **GRANITE CONSTRUCTION COMPANY** \$0.190 \$5,435.71 -52.5% 4 SEMA CONSTRUCTION, INC \$0.250 \$7,152.25 -37.5% 5 J. BANICKI CONSTRUCTION, INC. \$0.550 \$15,734.95 +37.5% 7016031 EACH-DAY BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE) Bid Rank Department Estimate 288.000 \$0.800 \$230.40 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.800 \$230.40 +0.0% 2 FNF CONSTRUCTION, INC. \$1.150 \$331.20 +43.8% 3 **GRANITE CONSTRUCTION COMPANY** \$0.190 \$54.72 -76.3% 4 SEMA CONSTRUCTION, INC. \$0.950 \$273.60 +18.7% 5 J. BANICKI CONSTRUCTION, INC. \$1.500 \$432.00 +87.5%

Printed: 8/25/2025 Page 11 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate | |
|--------------------|-------------------------------------|--------------|-------------|-----------------|------------------------------|--|
| 7016033 | EACH-DAY PORTABLE SIGN STAND (SP | RING TYPE) | | | | |
| Bid Rank | Department Estimate | 3,166.000 | \$1.000 | \$3,166.00 | | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$0.800 | \$2,532.80 | -20.0% | |
| 2 | FNF CONSTRUCTION, INC. | | \$1.150 | \$3,640.90 | +15.0% | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.250 | \$791.50 | -75.0% | |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.950 | \$3,007.70 | -5.0% | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$3.000 | \$9,498.00 | +200.0% | |
| 7016035 | EACH-DAY WARNING LIGHT (TYPE A) | | | | | |
| Bid Rank | Department Estimate | 2,691.000 | \$0.400 | \$1,076.40 | | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$0.100 | \$269.10 | -75.0% | |
| 2 | FNF CONSTRUCTION, INC. | | \$0.250 | \$672.75 | -37.5% | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.190 | \$511.29 | -52.5% | |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.130 | \$349.83 | -67.5% | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.750 | \$2,018.25 | +87.5% | |
| 7016037 | EACH-DAY WARNING LIGHT (TYPE C) | | | | | |
| Bid Rank | Department Estimate | 29,493.000 | \$0.500 | \$14,746.50 | | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$0.100 | \$2,949.30 | -80.0% | |
| 2 | FNF CONSTRUCTION, INC. | | \$0.250 | \$7,373.25 | -50.0% | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.190 | \$5,603.67 | -62.0% | |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.130 | \$3,834.09 | -74.0% | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.750 | \$22,119.75 | +50.0% | |
| 7016050 | EACH-DAY TRUCK-MOUNTED ATTENUA | TOR | | | | |
| Bid Rank | Department Estimate | 4.000 | \$800.000 | \$3,200.00 | | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$350.000 | \$1,400.00 | -56.3% | |
| 2 | FNF CONSTRUCTION, INC. | | \$2,000.000 | \$8,000.00 | +150.0% | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$1,064.000 | \$4,256.00 | +33.0% | |
| 4 | SEMA CONSTRUCTION, INC. | | \$411.290 | \$1,645.16 | -48.6% | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$1,300.000 | \$5,200.00 | +62.5% | |
| 7016051 | EACH-DAY TEMPORARY SIGN (LESS TH | IAN 10 S.F.) | | | | |
| Bid Rank | Department Estimate | 504.000 | \$0.900 | \$453.60 | | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$0.600 | \$302.40 | -33.3% | |
| 2 | FNF CONSTRUCTION, INC. | | \$0.800 | \$403.20 | -11.1% | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.190 | \$95.76 | -78.9% | |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.700 | \$352.80 | -22.2% | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.850 | \$428.40 | -5.6% | |
| 7016052 | EACH-DAY TEMPORARY SIGN (10 S.F. C | R MORE) | | | | |
| Bid Rank | Department Estimate | 2,949.000 | \$1.000 | \$2,949.00 | | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$0.800 | \$2,359.20 | -20.0% | |
| 2 | FNF CONSTRUCTION, INC. | | \$0.900 | \$2,654.10 | -10.0% | |
| | | | | | | |

Printed: 8/25/2025 Page 12 of 27

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|----------------------------------------|-------------------|------------|-----------------|------------------------------|
| 7016052 | EACH-DAY TEMPORARY SIGN (10 S.F. OR MO | RE) | | | _ |
| Bid Rank | Department Estimate | 2,949.000 | \$1.000 | \$2,949.00 | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.190 | \$560.31 | -81.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.950 | \$2,801.55 | -5.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$1.000 | \$2,949.00 | +0.0% |
| 7016061 | EACH-DAY FLASHING ARROW PANEL | | | | |
| Bid Rank | Department Estimate | 76.000 | \$50.000 | \$3,800.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$37.500 | \$2,850.00 | -25.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$30.000 | \$2,280.00 | -40.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$31.500 | \$2,394.00 | -37.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$25.310 | \$1,923.56 | -49.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$40.000 | \$3,040.00 | -20.0% |
| 7016067 | EACH-DAY CHANGEABLE MESSAGE BOARD (| CONTRACTOR FURNIS | SHED) | | |
| Bid Rank | Department Estimate | 1,050.000 | \$80.000 | \$84,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$37.500 | \$39,375.00 | -53.1% |
| 2 | FNF CONSTRUCTION, INC. | | \$40.000 | \$42,000.00 | -50.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$57.000 | \$59,850.00 | -28.8% |
| 4 | SEMA CONSTRUCTION, INC. | | \$44.290 | \$46,504.50 | -44.6% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$90.000 | \$94,500.00 | +12.5% |
| 7016071 | HOUR PILOT VEHICLE WITH DRIVER | | | | |
| Bid Rank | Department Estimate | 864.000 | \$85.000 | \$73,440.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$65.000 | \$56,160.00 | -23.5% |
| 2 | FNF CONSTRUCTION, INC. | | \$110.000 | \$95,040.00 | +29.4% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$77.000 | \$66,528.00 | -9.4% |
| 4 | SEMA CONSTRUCTION, INC. | | \$77.200 | \$66,700.80 | -9.2% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$120.000 | \$103,680.00 | +41.2% |
| 7016075 | HOUR FLAGGING SERVICES (CIVILIAN) | | | | |
| Bid Rank | Department Estimate | 1,728.000 | \$60.000 | \$103,680.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$52.000 | \$89,856.00 | -13.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$80.000 | \$138,240.00 | +33.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$59.000 | \$101,952.00 | -1.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$77.200 | \$133,401.60 | +28.7% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$85.000 | \$146,880.00 | +41.7% |
| 7016079 | HOUR FLAGGING SERVICES (UNIFORME | D OFFICER) | | | |
| Bid Rank | Department Estimate | 2,228.000 | \$110.000 | \$245,080.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$105.000 | \$233,940.00 | -4.5% |
| 2 | FNF CONSTRUCTION, INC. | | \$130.000 | \$289,640.00 | +18.2% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$115.000 | \$256,220.00 | +4.5% |
| 4 | SEMA CONSTRUCTION, INC. | | \$130.640 | \$291,065.92 | +18.8% |

Printed: 8/25/2025 Page 13 of 27

| ltem Number | Unit of Measure Item Description | on | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|-------------------|---------------------|----------------|-----------------|------------------------------|
| 7016079 | HOUR FLAGGING SE | RVICES (UNIFORME | D OFFICER) | | | |
| Bid Rank | Department Estimate | | 2,228.000 | \$110.000 | \$245,080.00 | |
| 5 | J. BANICKI CONSTRUCTION | , INC. | | \$205.000 | \$456,740.00 | +86.4% |
| 7030095 | EACH MILEPOST MA | RKER (S-10) | | | | |
| Bid Rank | Department Estimate | | 12.000 | \$500.000 | \$6,000.00 | |
| 1 | SUNLAND ASPHALT & CONS | STRUCTION LLC | | \$550.000 | \$6,600.00 | +10.0% |
| 2 | FNF CONSTRUCTION, INC. | | | \$580.000 | \$6,960.00 | +16.0% |
| 3 | GRANITE CONSTRUCTION (| COMPANY | | \$375.000 | \$4,500.00 | -25.0% |
| 4 | SEMA CONSTRUCTION, INC | | | \$661.400 | \$7,936.80 | +32.3% |
| 5 | J. BANICKI CONSTRUCTION | , INC. | | \$750.000 | \$9,000.00 | +50.0% |
| 7040007 | L.FT. PAVEMENT MA | ARKING (WHITE EXT | RUDED THERMOPLAST | TC)(0.120") | | |
| Bid Rank | Department Estimate | | 88,974.000 | \$0.750 | \$66,730.50 | |
| 1 | SUNLAND ASPHALT & CONS | STRUCTION LLC | | \$0.600 | \$53,384.40 | -20.0% |
| 2 | FNF CONSTRUCTION, INC. | | | \$0.700 | \$62,281.80 | -6.7% |
| 3 | GRANITE CONSTRUCTION (| COMPANY | | \$0.650 | \$57,833.10 | -13.3% |
| 4 | SEMA CONSTRUCTION, INC | | | \$1.040 | \$92,532.96 | +38.7% |
| 5 | J. BANICKI CONSTRUCTION | , INC. | | \$0.900 | \$80,076.60 | +20.0% |
| 7040008 | L.FT. PAVEMENT MA | ARKING (YELLOW EX | TRUDED THERMOPLA | STIC)(0.120") | | |
| Bid Rank | Department Estimate | , | 29,131.000 | \$0.750 | \$21,848.25 | |
| 1 | SUNLAND ASPHALT & CONS | STRUCTION LLC | • | \$0.600 | \$17,478.60 | -20.0% |
| 2 | FNF CONSTRUCTION, INC. | | | \$0.700 | \$20,391.70 | -6.7% |
| 3 | GRANITE CONSTRUCTION (| COMPANY | | \$0.650 | \$18,935.15 | -13.3% |
| 4 | SEMA CONSTRUCTION, INC | | | \$1.040 | \$30,296.24 | +38.7% |
| 5 | J. BANICKI CONSTRUCTION | | | \$0.900 | \$26,217.90 | +20.0% |
| 7040075 | L.FT. PAVEMENT MA | ARKING (TRANSVER | SE)(THERMOPLASTIC)(| ALKYD)(0.120") | | |
| Bid Rank | Department Estimate | | 419.000 | \$3.000 | \$1,257.00 | |
| 1 | SUNLAND ASPHALT & CONS | TRUCTION LLC | | \$2.600 | \$1,089.40 | -13.3% |
| 2 | FNF CONSTRUCTION, INC. | | | \$1.000 | \$419.00 | -66.7% |
| 3 | GRANITE CONSTRUCTION (| COMPANY | | \$3.000 | \$1,257.00 | +0.0% |
| 4 | SEMA CONSTRUCTION, INC | | | \$1.540 | \$645.26 | -48.7% |
| 5 | J. BANICKI CONSTRUCTION | , INC. | | \$1.300 | \$544.70 | -56.7% |
| 7040076 | EACH PAVEMENT LE | GEND (EXTRUDED T | HERMOPLASTIC)(ALK) | /D)(0.120") | | |
| Bid Rank | Department Estimate | | 3.000 | \$250.000 | \$750.00 | |
| 1 | SUNLAND ASPHALT & CONS | TRUCTION LLC | | \$210.000 | \$630.00 | -16.0% |
| 2 | FNF CONSTRUCTION, INC. | | | \$145.000 | \$435.00 | -42.0% |
| 3 | GRANITE CONSTRUCTION (| COMPANY | | \$225.000 | \$675.00 | -10.0% |
| 4 | SEMA CONSTRUCTION, INC | | | \$219.040 | \$657.12 | -12.4% |
| 5 | J. BANICKI CONSTRUCTION | , INC. | | \$185.000 | \$555.00 | -26.0% |

Printed: 8/25/2025 Page 14 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|-----------------------------|-----------------|-----------------|------------------------------|
| 7040077 | EACH PAVEMENT SYMBOL (EX | (TRUDED THERMOPLASTIC)(ALK | YD)(0.120") | | |
| Bid Rank | Department Estimate | 12.000 | \$250.000 | \$3,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION | N LLC | \$175.000 | \$2,100.00 | -30.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$145.000 | \$1,740.00 | -42.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$185.000 | \$2,220.00 | -26.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$202.810 | \$2,433.72 | -18.9% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$170.000 | \$2,040.00 | -32.0% |
| 7060015 | EACH PAVEMENT MARKER, RA | AISED, TYPE D | | | |
| Bid Rank | Department Estimate | 732.000 | \$4.000 | \$2,928.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION | N LLC | \$2.800 | \$2,049.60 | -30.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$4.000 | \$2,928.00 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$3.000 | \$2,196.00 | -25.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$5.030 | \$3,681.96 | +25.8% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$4.500 | \$3,294.00 | +12.5% |
| 7060018 | EACH PAVEMENT MARKER, RA | AISED, TYPE G | | | |
| Bid Rank | Department Estimate | 63.000 | \$4.000 | \$252.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION | N LLC | \$2.800 | \$176.40 | -30.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$4.000 | \$252.00 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$3.000 | \$189.00 | -25.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$5.030 | \$316.89 | +25.8% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$4.500 | \$283.50 | +12.5% |
| 7080201 | L.FT. WATERBORNE-TYPE I P | AVEMENT MARKING (PAINTED) (| WHITE) | | |
| Bid Rank | Department Estimate | 58,164.000 | \$0.200 | \$11,632.80 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION | N LLC | \$0.120 | \$6,979.68 | -40.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$0.200 | \$11,632.80 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.130 | \$7,561.32 | -35.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.130 | \$7,561.32 | -35.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.120 | \$6,979.68 | -40.0% |
| 7080202 | L.FT. WATERBORNE-TYPE I P | AVEMENT MARKING (PAINTED) (| YELLOW) | | |
| Bid Rank | Department Estimate | 19,542.000 | \$0.200 | \$3,908.40 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION | N LLC | \$0.120 | \$2,345.04 | -40.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$0.200 | \$3,908.40 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.130 | \$2,540.46 | -35.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.130 | \$2,540.46 | -35.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.120 | \$2,345.04 | -40.0% |
| 7080203 | L.FT. WATERBORNE-TYPE I P | AVEMENT MARKING (PAINTED) (| WHITE OR YELLOW | <u></u> | |
| Bid Rank | Department Estimate | 10,693.000 | \$0.200 | \$2,138.60 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION | N LLC | \$0.120 | \$1,283.16 | -40.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$0.200 | \$2,138.60 | +0.0% |

Printed: 8/25/2025 Page 15 of 27

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|---------------------------|------------------|-----------------|------------------------------|
| 7080203 | L.FT. WATERBORNE-TYPE I PAVE | EMENT MARKING (PAINTED) (| WHITE OR YELLOW) | | _ |
| Bid Rank | Department Estimate | 10,693.000 | \$0.200 | \$2,138.60 | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.130 | \$1,390.09 | -35.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.160 | \$1,710.88 | -20.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.150 | \$1,603.95 | -25.0% |
| 7080206 | EACH WATERBORNE-TYPE I PAVE | EMENT MARKING (PAINTED S | YMBOL) (ARROW) | | |
| Bid Rank | Department Estimate | 12.000 | \$80.000 | \$960.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$65.000 | \$780.00 | -18.8% |
| 2 | FNF CONSTRUCTION, INC. | | \$75.000 | \$900.00 | -6.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$70.000 | \$840.00 | -12.5% |
| 4 | SEMA CONSTRUCTION, INC. | | \$81.130 | \$973.56 | +1.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$70.000 | \$840.00 | -12.5% |
| 7080208 | EACH WATERBORNE-TYPE I PAVE | MENT MARKING (PAINTED L | EGEND) (ONLY) | | |
| Bid Rank | Department Estimate | 3.000 | \$80.000 | \$240.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$70.000 | \$210.00 | -12.5% |
| 2 | FNF CONSTRUCTION, INC. | | \$85.000 | \$255.00 | +6.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$75.000 | \$225.00 | -6.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$97.350 | \$292.05 | +21.7% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$85.000 | \$255.00 | +6.3% |
| 7310140 | EACH POLE (TYPE R) | | | | |
| Bid Rank | Department Estimate | 1.000 | \$12,000.000 | \$12,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$16,500.000 | \$16,500.00 | +37.5% |
| 2 | FNF CONSTRUCTION, INC. | | \$22,250.000 | \$22,250.00 | +85.4% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$17,800.000 | \$17,800.00 | +48.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$22,551.820 | \$22,551.82 | +87.9% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$21,000.000 | \$21,000.00 | +75.0% |
| 7310190 | EACH POLE (TYPE W) (65 FT.) | | | | |
| Bid Rank | Department Estimate | 1.000 | \$15,000.000 | \$15,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$17,000.000 | \$17,000.00 | +13.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$21,760.000 | \$21,760.00 | +45.1% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$17,300.000 | \$17,300.00 | +15.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$22,117.590 | \$22,117.59 | +47.5% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$20,300.000 | \$20,300.00 | +35.3% |
| 7310200 | EACH POLE FOUNDATION (TYPE) | A) | | | |
| Bid Rank | Department Estimate | 1.000 | \$1,500.000 | \$1,500.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LL | _C | \$2,300.000 | \$2,300.00 | +53.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$2,320.000 | \$2,320.00 | +54.7% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$2,520.000 | \$2,520.00 | +68.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$2,020.960 | \$2,020.96 | +34.7% |

Printed: 8/25/2025 *** Bid Tabs for Proposal Pamphlet 2023097 *** Page 16 of 27

| Item Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|--------------------|--------------------------------|----------|--------------|-----------------|------------------------------|
| 7310200 | EACH | POLE FOUNDATION (TYPE A) | | | | |
| Bid Rank | Department | Estimate | 1.000 | \$1,500.000 | \$1,500.00 | |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$3,000.000 | \$3,000.00 | +100.0% |
| 7310320 | EACH | POLE FOUNDATION (TYPE R) | | | | |
| Bid Rank | Department | Estimate | 1.000 | \$4,000.000 | \$4,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$4,700.000 | \$4,700.00 | +17.5% |
| 2 | FNF CONS | TRUCTION, INC. | | \$6,355.000 | \$6,355.00 | +58.9% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$5,010.000 | \$5,010.00 | +25.3% |
| 4 | SEMA CON | STRUCTION, INC. | | \$4,555.850 | \$4,555.85 | +13.9% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$5,900.000 | \$5,900.00 | +47.5% |
| 7310371 | EACH | POLE FOUNDATION (TYPE W) | | | | |
| Bid Rank | Department | Estimate | 1.000 | \$5,000.000 | \$5,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$4,900.000 | \$4,900.00 | -2.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$8,805.000 | \$8,805.00 | +76.1% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$5,200.000 | \$5,200.00 | +4.0% |
| 4 | SEMA CON | STRUCTION, INC. | | \$5,674.890 | \$5,674.89 | +13.5% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$6,075.000 | \$6,075.00 | +21.5% |
| 7310551 | EACH | MAST ARM (20 FT.) (STRAIGHT OR | TAPERED) | | | |
| Bid Rank | Department | Estimate | 2.000 | \$3,000.000 | \$6,000.00 | |
| 1 | SUNLAND A | ASPHALT & CONSTRUCTION LLC | | \$2,500.000 | \$5,000.00 | -16.7% |
| 2 | | TRUCTION, INC. | | \$3,055.000 | \$6,110.00 | +1.8% |
| 3 | | CONSTRUCTION COMPANY | | \$2,650.000 | \$5,300.00 | -11.7% |
| 4 | SEMA CON | STRUCTION, INC. | | \$2,633.820 | \$5,267.64 | -12.2% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$3,100.000 | \$6,200.00 | +3.3% |
| 7310600 | EACH | MAST ARM (45 FT.) (STRAIGHT OR | TAPERED) | | | |
| Bid Rank | Department | Estimate | 1.000 | \$7,000.000 | \$7,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$9,000.000 | \$9,000.00 | +28.6% |
| 2 | FNF CONS | TRUCTION, INC. | | \$14,000.000 | \$14,000.00 | +100.0% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$9,600.000 | \$9,600.00 | +37.1% |
| 4 | SEMA CON | STRUCTION, INC. | | \$12,280.620 | \$12,280.62 | +75.4% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$11,300.000 | \$11,300.00 | +61.4% |
| 7310640 | EACH | MAST ARM (65 FT.) (STRAIGHT OR | TAPERED) | | | |
| Bid Rank | Department | Estimate | 1.000 | \$11,000.000 | \$11,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$15,000.000 | \$15,000.00 | +36.4% |
| 2 | FNF CONS | TRUCTION, INC. | | \$16,725.000 | \$16,725.00 | +52.0% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$16,400.000 | \$16,400.00 | +49.1% |
| 4 | SEMA CON | STRUCTION, INC. | | \$21,119.290 | \$21,119.29 | +92.0% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$19,300.000 | \$19,300.00 | +75.5% |

Printed: 8/25/2025 Page 17 of 27

*** Bid Tabs for Proposal Pamphlet 2023097 *** Item Unit of **Compared To** Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 7320050 L.FT. ELECTRICAL CONDUIT (2") (PVC) Bid Rank Department Estimate 109.000 \$30.000 \$3,270.00 SUNLAND ASPHALT & CONSTRUCTION LLC \$15.000 \$1,635.00 -50.0% 2 FNF CONSTRUCTION, INC. \$19.500 \$2,125.50 -35.0% 3 **GRANITE CONSTRUCTION COMPANY** \$16.500 \$1,798.50 -45.0% 4 SEMA CONSTRUCTION, INC. \$20.690 \$2,255.21 -31.0% 5 J. BANICKI CONSTRUCTION, INC. \$19.000 \$2,071.00 -36.7% 7320070 L.FT. ELECTRICAL CONDUIT (3") (PVC) Bid Rank Department Estimate 694.000 \$35.000 \$24,290.00 SUNLAND ASPHALT & CONSTRUCTION LLC \$70.000 \$48,580.00 +100.0% 2 FNF CONSTRUCTION, INC. \$22.000 \$15,268.00 -37.1% 3 **GRANITE CONSTRUCTION COMPANY** \$75.000 \$52,050.00 +114.3% SEMA CONSTRUCTION, INC. \$47.540 \$32,992.76 +35.8% 5 J. BANICKI CONSTRUCTION, INC. \$88.000 \$61,072.00 +151.4% 7320410 **EACH** PULL BOX (NO. 5) Bid Rank 1.000 Department Estimate \$1,400.000 \$1,400.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1.000.000 \$1,000.00 -28.6% 2 FNF CONSTRUCTION, INC. \$1,060.000 \$1,060.00 -24.3% 3 **GRANITE CONSTRUCTION COMPANY** \$1,100.000 \$1,100.00 -21.4% 4 SEMA CONSTRUCTION, INC. \$1,636.820 \$1,636.82 +16.9% J. BANICKI CONSTRUCTION, INC. \$1,280.000 \$1,280.00 -8.6% 7320420 EACH PULL BOX (NO. 7) Bid Rank 1.000 Department Estimate \$1,800.000 \$1,800.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1,200,000 \$1,200,00 -33.3% 2 FNF CONSTRUCTION, INC. \$1.590.000 \$1,590.00 -11.7% 3 **GRANITE CONSTRUCTION COMPANY** \$1,320.000 \$1,320.00 -26.7% +95.6% 4 SEMA CONSTRUCTION, INC. \$3,520.310 \$3,520.31 5 J. BANICKI CONSTRUCTION, INC. \$1,550.000 \$1,550.00 -13.9% 7320421 EACH PULL BOX (NO. 7) (WITH EXTENSION) Bid Rank Department Estimate 1.000 \$3,000.000 \$3.000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1,450.000 \$1,450.00 -51.7% 2 -36.8% FNF CONSTRUCTION, INC. \$1,895.000 \$1,895.00 3 **GRANITE CONSTRUCTION COMPANY** \$1,610.000 \$1,610.00 -46.3% 4 SEMA CONSTRUCTION, INC. \$3,519.670 \$3,519.67 +17.3% 5 J. BANICKI CONSTRUCTION, INC. \$1,900.000 \$1,900.00 -36.7% 7320463 EACH PULL BOX (ADJUST TO GRADE) Bid Rank 3.000 Department Estimate \$1,000.000 \$3,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$500.000 \$1,500.00 -50.0%

\$700.000

\$2,100.00

-30.0%

2

FNF CONSTRUCTION, INC.

Printed: 8/25/2025 Page 18 of 27

| ltem Number | Unit of Measure Item I | Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate | |
|----------------|---------------------------|--------------------------|-----------------------|-------------|-----------------|------------------------------|--|
| 7320463 | EACH PULL | BOX (ADJUST TO GRADE) | | | | | |
| Bid Rank | Department Estimate | е | 3.000 | \$1,000.000 | \$3,000.00 | | |
| 3 | GRANITE CONSTR | UCTION COMPANY | | \$555.000 | \$1,665.00 | -44.5% | |
| 4 | SEMA CONSTRUCT | ΓΙΟΝ, INC. | | \$781.790 | \$2,345.37 | -21.8% | |
| 5 | J. BANICKI CONSTI | RUCTION, INC. | | \$650.000 | \$1,950.00 | -35.0% | |
| 7320503 | L.FT. CON | DUCTOR (NO. 12) | | | | | |
| Bid Rank | Department Estimate | e | 2,151.000 | \$1.200 | \$2,581.20 | | |
| 1 | SUNLAND ASPHAL | T & CONSTRUCTION LLC | | \$1.000 | \$2,151.00 | -16.7% | |
| 2 | FNF CONSTRUCTION | ON, INC. | | \$4.000 | \$8,604.00 | +233.3% | |
| 3 | GRANITE CONSTR | UCTION COMPANY | | \$1.080 | \$2,323.08 | -10.0% | |
| 4 | SEMA CONSTRUCT | ΓΙΟΝ, INC. | | \$1.930 | \$4,151.43 | +60.8% | |
| 5 | J. BANICKI CONSTI | RUCTION, INC. | | \$1.500 | \$3,226.50 | +25.0% | |
| 7320520 | L.FT. CON | DUCTOR (NO. 8) | | | | | |
| Bid Rank | Department Estimate | e | 2,241.000 | \$1.400 | \$3,137.40 | | |
| 1 | SUNLAND ASPHAL | T & CONSTRUCTION LLC | | \$2.000 | \$4,482.00 | +42.9% | |
| 2 | FNF CONSTRUCTION | ON, INC. | | \$3.750 | \$8,403.75 | +167.9% | |
| 3 | GRANITE CONSTR | UCTION COMPANY | | \$2.000 | \$4,482.00 | +42.9% | |
| 4 | SEMA CONSTRUCT | ΓΙΟΝ, INC. | | \$2.830 | \$6,342.03 | +102.1% | |
| 5 | J. BANICKI CONSTI | RUCTION, INC. | | \$2.500 | \$5,602.50 | +78.6% | |
| 7320530 | L.FT. CON | DUCTOR (NO. 6) | | | | | |
| Bid Rank | Department Estimate | e | 33.000 | \$1.600 | \$52.80 | | |
| 1 | SUNLAND ASPHAL | T & CONSTRUCTION LLC | | \$2.250 | \$74.25 | +40.6% | |
| 2 | FNF CONSTRUCTION | ON, INC. | | \$3.550 | \$117.15 | +121.9% | |
| 3 | GRANITE CONSTR | UCTION COMPANY | | \$2.050 | \$67.65 | +28.1% | |
| 4 | SEMA CONSTRUCT | ΓΙΟΝ, INC. | | \$3.730 | \$123.09 | +133.1% | |
| 5 | J. BANICKI CONSTI | RUCTION, INC. | | \$2.500 | \$82.50 | +56.3% | |
| 7320586 | L.FT. CON | DUCTOR (20 #14 AWG STRAN | DED CABLE, IMSA 20-1) | | | | |
| Bid Rank | Department Estimate | e | 1,328.000 | \$4.100 | \$5,444.80 | | |
| 1 | SUNLAND ASPHAL | T & CONSTRUCTION LLC | | \$7.000 | \$9,296.00 | +70.7% | |
| 2 | FNF CONSTRUCTION | ON, INC. | | \$11.000 | \$14,608.00 | +168.3% | |
| 3 | GRANITE CONSTR | UCTION COMPANY | | \$7.750 | \$10,292.00 | +89.0% | |
| 4 | SEMA CONSTRUCT | ΓΙΟΝ, INC. | | \$8.480 | \$11,261.44 | +106.8% | |
| 5 | J. BANICKI CONSTI | RUCTION, INC. | | \$10.000 | \$13,280.00 | +143.9% | |
| 7320657 | L.FT. CON | DUCTORS (7 #14 AWG STRAN | DED CABLE, IMSA 20-1) | | | | |
| Bid Rank | Department Estimate | е | 1,703.000 | \$3.000 | \$5,109.00 | | |
| 1 | SUNLAND ASPHAL | T & CONSTRUCTION LLC | | \$3.000 | \$5,109.00 | +0.0% | |
| 2 | FNF CONSTRUCTION | ON, INC. | | \$9.750 | \$16,604.25 | +225.0% | |
| 3 | GRANITE CONSTR | UCTION COMPANY | | \$3.200 | \$5,449.60 | +6.7% | |
| 4 | SEMA CONSTRUCT | ΓΙΟΝ, INC. | | \$4.110 | \$6,999.33 | +37.0% | |

Printed: 8/25/2025 Page 19 of 27

*** Bid Tabs for Proposal Pamphlet 2023097 *** Item Unit of **Compared To** Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 7320657 L.FT. CONDUCTORS (7 #14 AWG STRANDED CABLE, IMSA 20-1) Bid Rank Department Estimate 1,703.000 \$3.000 \$5,109.00 J. BANICKI CONSTRUCTION, INC. \$3.750 \$6,386.25 +25.0% 7330060 FACH TRAFFIC SIGNAL FACE (TYPE F) Bid Rank Department Estimate 6.000 \$1.000.000 \$6.000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1,100.000 \$6,600.00 +10.0% 2 FNF CONSTRUCTION, INC. \$1,125.000 \$6,750.00 +12.5% 3 **GRANITE CONSTRUCTION COMPANY** \$7,200.00 +20.0% \$1,200.000 4 SEMA CONSTRUCTION, INC. \$1,209.630 \$7,257.78 +21.0% J. BANICKI CONSTRUCTION, INC. \$8,400.00 +40.0% \$1,400.000 7330070 EACH TRAFFIC SIGNAL FACE (TYPE G) Bid Rank 2.000 Department Estimate \$1,500.000 \$3,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1.500.000 \$3.000.00 +0.0% 2 FNF CONSTRUCTION, INC. \$1,635.000 \$3.270.00 +9.0% 3 GRANITE CONSTRUCTION COMPANY \$1.540.000 \$3.080.00 +2.7% 4 SEMA CONSTRUCTION, INC. \$1,708.120 \$3,416.24 +13.9% J. BANICKI CONSTRUCTION. INC. \$1.800.000 \$3.600.00 +20.0% 7330310 EACH TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE II) Bid Rank Department Estimate 4.000 \$700.000 \$2,800.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$350.000 \$1,400.00 -50.0% 2 FNF CONSTRUCTION, INC. \$1,025.000 \$4,100.00 +46.4% 3 **GRANITE CONSTRUCTION COMPANY** \$381.000 \$1,524.00 -45.6% 4 SEMA CONSTRUCTION, INC. \$341.750 \$1.367.00 -51.2% J. BANICKI CONSTRUCTION, INC. \$445.000 \$1.780.00 -36.4% 7330360 FACH TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE VII) Bid Rank Department Estimate 3.000 \$1,400,000 \$4,200,00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$1,200,000 \$3.600.00 -14.3% 2 FNF CONSTRUCTION, INC. \$1,125.000 \$3,375.00 -19.6% 3 **GRANITE CONSTRUCTION COMPANY** -6.4% \$1,310.000 \$3,930.00 4 SEMA CONSTRUCTION, INC \$912.840 \$2,738.52 -34.8% 5 J. BANICKI CONSTRUCTION, INC. \$1,530.000 \$4,590.00 +9.3% 7330701 EACH FLASHER ASSEMBLY (RELOCATE) Bid Rank 1.000 Department Estimate \$4,000.000 \$4,000.00 1 SUNLAND ASPHALT & CONSTRUCTION LLC \$880.000 \$880.00 -78.0% 2 FNF CONSTRUCTION, INC. \$3,300.000 \$3,300.00 -17.5% 3 **GRANITE CONSTRUCTION COMPANY** \$930.000 \$930.00 -76.8% 4 SEMA CONSTRUCTION, INC. \$4,316.230 \$4,316.23 +7.9%

\$1,090.000

\$1,090.00

-72.8%

5

J. BANICKI CONSTRUCTION, INC.

Printed: 8/25/2025 Page 20 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| | ltem Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate | |
|---|----------------|-------------------------------------|---------------------------------|--------------|-----------------|------------------------------|--|
| - | 7340050 | EACH CONTROL CABINE | T (TYPE V) | | | | |
| | Bid Rank | Department Estimate | 1.000 | \$60,000.000 | \$60,000.00 | | |
| | 1 | SUNLAND ASPHALT & CONSTRU | CTION LLC | \$42,000.000 | \$42,000.00 | -30.0% | |
| | 2 | FNF CONSTRUCTION, INC. | | \$45,250.000 | \$45,250.00 | -24.6% | |
| | 3 | GRANITE CONSTRUCTION COMP | PANY | \$40,400.000 | \$40,400.00 | -32.7% | |
| | 4 | SEMA CONSTRUCTION, INC. | | \$46,569.600 | \$46,569.60 | -22.4% | |
| | 5 | J. BANICKI CONSTRUCTION, INC | | \$47,200.000 | \$47,200.00 | -21.3% | |
| | 7340115 | EACH PEDESTAL (ELECT | RICAL) (COMBINATION UPS AND MET | ER) | | | |
| | Bid Rank | Department Estimate | 1.000 | \$10,000.000 | \$10,000.00 | | |
| | 1 | SUNLAND ASPHALT & CONSTRU | CTION LLC | \$20,000.000 | \$20,000.00 | +100.0% | |
| | 2 | FNF CONSTRUCTION, INC. | | \$5,750.000 | \$5,750.00 | -42.5% | |
| | 3 | GRANITE CONSTRUCTION COMP | PANY | \$18,650.000 | \$18,650.00 | +86.5% | |
| | 4 | SEMA CONSTRUCTION, INC. | | \$27,980.050 | \$27,980.05 | +179.8% | |
| | 5 | J. BANICKI CONSTRUCTION, INC | | \$21,800.000 | \$21,800.00 | +118.0% | |
| | 7350021 | EACH LOOP DETECTOR | (SPEED/CLASSIFICATION) | | | | |
| | Bid Rank | Department Estimate | 1.000 | \$30,000.000 | \$30,000.00 | | |
| | 1 | SUNLAND ASPHALT & CONSTRU | CTION LLC | \$45,000.000 | \$45,000.00 | +50.0% | |
| | 2 | FNF CONSTRUCTION, INC. | | \$34,225.000 | \$34,225.00 | +14.1% | |
| | 3 | GRANITE CONSTRUCTION COMP | PANY | \$49,000.000 | \$49,000.00 | +63.3% | |
| | 4 | SEMA CONSTRUCTION, INC. | | \$16,485.080 | \$16,485.08 | -45.0% | |
| | 5 | J. BANICKI CONSTRUCTION, INC | | \$57,000.000 | \$57,000.00 | +90.0% | |
| | 7360111 | EACH LUMINAIRE (LED) (| HORIZONTAL MOUNT) (TYPE 10L) | | | | |
| | Bid Rank | Department Estimate | 2.000 | \$2,500.000 | \$5,000.00 | | |
| | 1 | SUNLAND ASPHALT & CONSTRU | CTION LLC | \$1,100.000 | \$2,200.00 | -56.0% | |
| | 2 | FNF CONSTRUCTION, INC. | | \$1,270.000 | \$2,540.00 | -49.2% | |
| | 3 | GRANITE CONSTRUCTION COMP | PANY | \$1,100.000 | \$2,200.00 | -56.0% | |
| | 4 | SEMA CONSTRUCTION, INC. | | \$1,177.500 | \$2,355.00 | -52.9% | |
| | 5 | J. BANICKI CONSTRUCTION, INC | | \$1,300.000 | \$2,600.00 | -48.0% | |
| | 7370452 | L.SUM MISCELLANEOUS I | ELECTRICAL (RECORD DRAWINGS) | | | | |
| | Bid Rank | Department Estimate | 1.000 | \$5,000.000 | \$5,000.00 | | |
| | 1 | SUNLAND ASPHALT & CONSTRU | CTION LLC | \$750.000 | \$750.00 | -85.0% | |
| | 2 | FNF CONSTRUCTION, INC. | | \$10,000.000 | \$10,000.00 | +100.0% | |
| | 3 | GRANITE CONSTRUCTION COMP | PANY | \$775.000 | \$775.00 | -84.5% | |
| | 4 | SEMA CONSTRUCTION, INC. | | \$1,972.140 | \$1,972.14 | -60.6% | |
| | 5 | J. BANICKI CONSTRUCTION, INC | • | \$910.000 | \$910.00 | -81.8% | |
| | 8050003 | ACRE SEEDING (CLASS I | I) | | | | |
| | Bid Rank | Department Estimate | 27.000 | \$5,000.000 | \$135,000.00 | | |
| | 1 | SUNLAND ASPHALT & CONSTRU | CTION LLC | \$6,000.000 | \$162,000.00 | +20.0% | |
| | 2 | FNF CONSTRUCTION, INC. | | \$6,380.000 | \$172,260.00 | +27.6% | |
| | | | | | | | |

Printed: 8/25/2025 Page 21 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| | ltem Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|---|----------------|-------------------------------------|--------------------|------------------|-----------------|------------------------------|
| | 8050003 | ACRE SEEDING (CLASS II) | | | | |
| | Bid Rank | Department Estimate | 27.000 | \$5,000.000 | \$135,000.00 | |
| | 3 | GRANITE CONSTRUCTION COMPANY | | \$6,525.000 | \$176,175.00 | +30.5% |
| | 4 | SEMA CONSTRUCTION, INC. | | \$7,110.310 | \$191,978.37 | +42.2% |
| | 5 | J. BANICKI CONSTRUCTION, INC. | | \$8,560.000 | \$231,120.00 | +71.2% |
| | 8061639 | EACH CACTUS (SAGUARO SALVAGING | & REPLANTING) | | | |
| | Bid Rank | Department Estimate | 8.000 | \$2,500.000 | \$20,000.00 | |
| | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$1,700.000 | \$13,600.00 | -32.0% |
| | 2 | FNF CONSTRUCTION, INC. | | \$1,155.000 | \$9,240.00 | -53.8% |
| | 3 | GRANITE CONSTRUCTION COMPANY | | \$970.000 | \$7,760.00 | -61.2% |
| | 4 | SEMA CONSTRUCTION, INC. | | \$632.760 | \$5,062.08 | -74.7% |
| | 5 | J. BANICKI CONSTRUCTION, INC. | | \$4,800.000 | \$38,400.00 | +92.0% |
| | 8101018 | SQ.YD. EROSION CONTROL (STABILIZED | CONSTRUCTION ENT | RANCE/GRAVEL PAD |)) | |
| | Bid Rank | Department Estimate | 500.000 | \$45.000 | \$22,500.00 | |
| | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$35.000 | \$17,500.00 | -22.2% |
| | 2 | FNF CONSTRUCTION, INC. | | \$60.000 | \$30,000.00 | +33.3% |
| | 3 | GRANITE CONSTRUCTION COMPANY | | \$22.000 | \$11,000.00 | -51.1% |
| | 4 | SEMA CONSTRUCTION, INC. | | \$54.970 | \$27,485.00 | +22.2% |
| | 5 | J. BANICKI CONSTRUCTION, INC. | | \$75.000 | \$37,500.00 | +66.7% |
| | 8101031 | CU.YD. EROSION CONTROL (HEADWALL | ROCK PROTECTION) (| (GRADATION C) | | |
| | Bid Rank | Department Estimate | 34.000 | \$300.000 | \$10,200.00 | |
| | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$255.000 | \$8,670.00 | -15.0% |
| | 2 | FNF CONSTRUCTION, INC. | | \$250.000 | \$8,500.00 | -16.7% |
| | 3 | GRANITE CONSTRUCTION COMPANY | | \$850.000 | \$28,900.00 | +183.3% |
| | 4 | SEMA CONSTRUCTION, INC. | | \$348.480 | \$11,848.32 | +16.2% |
| | 5 | J. BANICKI CONSTRUCTION, INC. | | \$460.000 | \$15,640.00 | +53.3% |
| | 8101035 | L.FT. EROSION CONTROL (SEDIMENT | LOGS) (20") | | | |
| | Bid Rank | Department Estimate | 3,040.000 | \$10.000 | \$30,400.00 | |
| | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$6.500 | \$19,760.00 | -35.0% |
| | 2 | FNF CONSTRUCTION, INC. | | \$18.000 | \$54,720.00 | +80.0% |
| | 3 | GRANITE CONSTRUCTION COMPANY | | \$6.600 | \$20,064.00 | -34.0% |
| | 4 | SEMA CONSTRUCTION, INC. | | \$7.110 | \$21,614.40 | -28.9% |
| | 5 | J. BANICKI CONSTRUCTION, INC. | | \$7.150 | \$21,736.00 | -28.5% |
| - | 9010001 | L.SUM MOBILIZATION | | | | |
| | Bid Rank | Department Estimate | 1.000 | \$1,100,000.000 | \$1,100,000.00 | |
| | 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$624,511.620 | \$624,511.62 | -43.2% |
| | 2 | FNF CONSTRUCTION, INC. | | \$1,149,550.000 | \$1,149,550.00 | +4.5% |
| | 3 | GRANITE CONSTRUCTION COMPANY | | \$1,030,696.020 | \$1,030,696.02 | -6.3% |
| | 4 | SEMA CONSTRUCTION, INC. | | \$734,288.320 | \$734,288.32 | -33.2% |
| | | | | | | |

Printed: 8/25/2025 *** Bid Tabs for Proposal Pamphlet 2023097 *** Page 22 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|--------------------------------------|-----------|-----------------|-----------------|------------------------------|
| 9010001 | L.SUM MOBILIZATION | | | | |
| Bid Rank | Department Estimate | 1.000 | \$1,100,000.000 | \$1,100,000.00 | |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$471,445.040 | \$471,445.04 | -57.1% |
| 9050005 | L.FT. GUARD RAIL, W-BEAM, SINGLE FA | CE (MASH) | | | |
| Bid Rank | Department Estimate | 463.000 | \$80.000 | \$37,040.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$55.000 | \$25,465.00 | -31.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$60.000 | \$27,780.00 | -25.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$44.000 | \$20,372.00 | -45.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$52.220 | \$24,177.86 | -34.7% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$90.000 | \$41,670.00 | +12.5% |
| 9050025 | EACH GUARD RAIL TERMINAL (MASH) | | | | |
| Bid Rank | Department Estimate | 6.000 | \$8,000.000 | \$48,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$5,500.000 | \$33,000.00 | -31.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$5,955.000 | \$35,730.00 | -25.6% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$6,275.000 | \$37,650.00 | -21.6% |
| 4 | SEMA CONSTRUCTION, INC. | | \$7,451.450 | \$44,708.70 | -6.9% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$6,810.000 | \$40,860.00 | -14.9% |
| 9050419 | EACH GUARD RAIL TRANSITION (C-10.30 | 0) | | | |
| Bid Rank | Department Estimate | 4.000 | \$6,000.000 | \$24,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$5,500.000 | \$22,000.00 | -8.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$5,955.000 | \$23,820.00 | -0.8% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$7,200.000 | \$28,800.00 | +20.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$8,554.170 | \$34,216.68 | +42.6% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$6,810.000 | \$27,240.00 | +13.5% |
| 9070101 | SQ.YD. WATERPROOF CONCRETE BRIDG | E DECK | | | |
| Bid Rank | Department Estimate | 259.000 | \$20.000 | \$5,180.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$115.000 | \$29,785.00 | +475.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$215.000 | \$55,685.00 | +975.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$179.000 | \$46,361.00 | +795.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$506.210 | \$131,108.39 | +2431.1% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$80.000 | \$20,720.00 | +300.0% |
| 9080502 | L.FT. CONCRETE FORD WALL (2') (C-19. | .10) | | | |
| Bid Rank | Department Estimate | 1,227.000 | \$120.000 | \$147,240.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$77.000 | \$94,479.00 | -35.8% |
| 2 | FNF CONSTRUCTION, INC. | | \$100.000 | \$122,700.00 | -16.7% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$64.000 | \$78,528.00 | -46.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$107.330 | \$131,693.91 | -10.6% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$125.000 | \$153,375.00 | +4.2% |

Printed: 8/25/2025 Page 23 of 27 *** Bid Tabs for Proposal Pamphlet 2023097 ***

| ltem Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|--------------------|--------------------------------|--------------------|--------------|-----------------|------------------------------|
| 9080503 | L.FT. | CONCRETE FORD WALL (4') (C-19. | 10) | | | |
| Bid Rank | Department | t Estimate | 1,227.000 | \$170.000 | \$208,590.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$125.000 | \$153,375.00 | -26.5% |
| 2 | FNF CONS | TRUCTION, INC. | | \$180.000 | \$220,860.00 | +5.9% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$128.000 | \$157,056.00 | -24.7% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$177.550 | \$217,853.85 | +4.4% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$215.000 | \$263,805.00 | +26.5% |
| 9240010 | L.SUM | FORCE ACCOUNT WORK (BRIDGE | DECK REPAIR) | | | |
| Bid Rank | Department | t Estimate | 1.000 | \$20,000.000 | \$20,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$20,000.000 | \$20,000.00 | +0.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$20,000.000 | \$20,000.00 | +0.0% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$20,000.000 | \$20,000.00 | +0.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$20,000.000 | \$20,000.00 | +0.0% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$20,000.000 | \$20,000.00 | +0.0% |
| 9240015 | L.SUM | FORCE ACCOUNT WORK (PROVID | E ELECTRICAL SERV | ICE) | | |
| Bid Rank | Department | t Estimate | 1.000 | \$12,000.000 | \$12,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$12,000.000 | \$12,000.00 | +0.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$12,000.000 | \$12,000.00 | +0.0% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$12,000.000 | \$12,000.00 | +0.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$12,000.000 | \$12,000.00 | +0.0% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$12,000.000 | \$12,000.00 | +0.0% |
| 9240050 | L.SUM | MISCELLANEOUS WORK (GRAFFI | ΓI REMOVAL) | | | |
| Bid Rank | Department | t Estimate | 1.000 | \$4,000.000 | \$4,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$35,000.000 | \$35,000.00 | +775.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$40,000.000 | \$40,000.00 | +900.0% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$1,200.000 | \$1,200.00 | -70.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$3,358.760 | \$3,358.76 | -16.0% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$6,000.000 | \$6,000.00 | +50.0% |
| 9240054 | L.SUM | MISCELLANEOUS WORK (RADAR | DETECTION) | | | |
| Bid Rank | Department | t Estimate | 1.000 | \$30,000.000 | \$30,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$40,000.000 | \$40,000.00 | +33.3% |
| 2 | FNF CONS | TRUCTION, INC. | | \$35,000.000 | \$35,000.00 | +16.7% |
| 3 | GRANITE C | CONSTRUCTION COMPANY | | \$42,300.000 | \$42,300.00 | +41.0% |
| 4 | SEMA CON | ISTRUCTION, INC. | | \$68,099.230 | \$68,099.23 | +127.0% |
| 5 | J. BANICKI | CONSTRUCTION, INC. | | \$50,000.000 | \$50,000.00 | +66.7% |
| 9240120 | EACH | MISCELLANEOUS WORK (RELOCA | TE EXISTING CCTV A | ND ANTENNA) | | |
| Bid Rank | Department | : Estimate | 1.000 | \$1,000.000 | \$1,000.00 | |
| 1 | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$2,200.000 | \$2,200.00 | +120.0% |
| 2 | FNF CONS | TRUCTION, INC. | | \$4,000.000 | \$4,000.00 | +300.0% |

Printed: 8/25/2025 Page 24 of 27

| ltem Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|------------------------|-------------------|-----------------|------------------------------|
| 9240120 | EACH MISCELLANEOUS WORK (RE | LOCATE EXISTING CCTV A | ND ANTENNA) | | _ |
| Bid Rank | Department Estimate | 1.000 | \$1,000.000 | \$1,000.00 | |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$2,425.000 | \$2,425.00 | +142.5% |
| 4 | SEMA CONSTRUCTION, INC. | | \$2,875.340 | \$2,875.34 | +187.5% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$2,900.000 | \$2,900.00 | +190.0% |
| 9240122 | EACH MISCELLANEOUS WORK (RE | LOCATE EMERGENCY VEH | IICLE PRE-EMPTION |) | |
| Bid Rank | Department Estimate | 2.000 | \$1,500.000 | \$3,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$1,150.000 | \$2,300.00 | -23.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$2,500.000 | \$5,000.00 | +66.7% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$1,250.000 | \$2,500.00 | -16.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$2,717.970 | \$5,435.94 | +81.2% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$1,400.000 | \$2,800.00 | -6.7% |
| 9240170 | L.SUM CONTRACTOR QUALITY CON | NTROL | | | |
| Bid Rank | Department Estimate | 1.000 | \$120,000.000 | \$120,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$185,000.000 | \$185,000.00 | +54.2% |
| 2 | FNF CONSTRUCTION, INC. | | \$300,000.000 | \$300,000.00 | +150.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$99,100.000 | \$99,100.00 | -17.4% |
| 4 | SEMA CONSTRUCTION, INC. | | \$81,008.670 | \$81,008.67 | -32.5% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$176,800.000 | \$176,800.00 | +47.3% |
| 9240181 | SQ.YD. MISCELLANEOUS WORK (CO | ONTROL OF NOXIOUS PLAN | ITS)(MANAUL/MECH | ANICAL METHODS) | |
| Bid Rank | Department Estimate | 59,000.000 | \$1.200 | \$70,800.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$1.700 | \$100,300.00 | +41.7% |
| 2 | FNF CONSTRUCTION, INC. | | \$1.250 | \$73,750.00 | +4.2% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.580 | \$34,220.00 | -51.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.590 | \$34,810.00 | -50.8% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.700 | \$41,300.00 | -41.7% |
| 9240182 | SQ.YD. MISCELLANEOUS WORK (CC | ONTROL OF NOXIOUS PLAN | ITS)(HERBICIDE) | | |
| Bid Rank | Department Estimate | 72,000.000 | \$1.000 | \$72,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$1.000 | \$72,000.00 | +0.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$1.000 | \$72,000.00 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$0.460 | \$33,120.00 | -54.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.740 | \$53,280.00 | -26.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$0.550 | \$39,600.00 | -45.0% |
| 9240900 | L.SUM AVOIDANCE AREA PROTECT | ION PLAN AND MONITORIN | IG | | |
| Bid Rank | Department Estimate | 1.000 | \$50,000.000 | \$50,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$7,500.000 | \$7,500.00 | -85.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$75,000.000 | \$75,000.00 | +50.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$2,700.000 | \$2,700.00 | -94.6% |
| 4 | SEMA CONSTRUCTION, INC. | | \$0.010 | \$0.01 | -100.0% |

Printed: 8/25/2025 Page 25 of 27

| ltem Number | Unit of Measure | Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|--------------------|-------------------------------|--------------------|---------------|-----------------|------------------------------|
| 9240900 | L.SUM | AVOIDANCE AREA PROTECTION F | LAN AND MONITORING | | | |
| Bid Rank | Department E | stimate | 1.000 | \$50,000.000 | \$50,000.00 | |
| 5 | J. BANICKI C | ONSTRUCTION, INC. | | \$9,000.000 | \$9,000.00 | -82.0% |
| 9250001 | L.SUM | CONSTRUCTION SURVEYING AND | LAYOUT | | | |
| Bid Rank | Department E | stimate | 1.000 | \$120,000.000 | \$120,000.00 | |
| 1 | SUNLAND AS | PHALT & CONSTRUCTION LLC | | \$175,000.000 | \$175,000.00 | +45.8% |
| 2 | FNF CONSTR | RUCTION, INC. | | \$175,000.000 | \$175,000.00 | +45.8% |
| 3 | GRANITE CO | NSTRUCTION COMPANY | | \$85,000.000 | \$85,000.00 | -29.2% |
| 4 | SEMA CONST | TRUCTION, INC. | | \$109,206.750 | \$109,206.75 | -9.0% |
| 5 | J. BANICKI C | ONSTRUCTION, INC. | | \$338,500.000 | \$338,500.00 | +182.1% |
| 9280036 | L.FT. | GROUND-IN RUMBLE STRIP (8 INC | CH) | | | |
| Bid Rank | Department E | stimate | 57,027.000 | \$0.300 | \$17,108.10 | |
| 1 | SUNLAND AS | PHALT & CONSTRUCTION LLC | | \$0.200 | \$11,405.40 | -33.3% |
| 2 | FNF CONSTR | RUCTION, INC. | | \$0.250 | \$14,256.75 | -16.7% |
| 3 | GRANITE CO | NSTRUCTION COMPANY | | \$0.200 | \$11,405.40 | -33.3% |
| 4 | SEMA CONST | TRUCTION, INC. | | \$0.320 | \$18,248.64 | +6.7% |
| 5 | J. BANICKI C | ONSTRUCTION, INC. | | \$0.250 | \$14,256.75 | -16.7% |
| 2020009 A | CU.YD. | REMOVAL OF STRUCTURAL CONC | CRETE | | | |
| Bid Rank | Department E | stimate | 35.000 | \$700.000 | \$24,500.00 | |
| 1 | SUNLAND AS | PHALT & CONSTRUCTION LLC | | \$1,500.000 | \$52,500.00 | +114.3% |
| 2 | FNF CONSTR | RUCTION, INC. | | \$1,250.000 | \$43,750.00 | +78.6% |
| 3 | GRANITE CO | NSTRUCTION COMPANY | | \$600.000 | \$21,000.00 | -14.3% |
| 4 | SEMA CONS | TRUCTION, INC. | | \$517.890 | \$18,126.15 | -26.0% |
| 5 | | ONSTRUCTION, INC. | | \$1,650.000 | \$57,750.00 | +135.7% |
| 2030501 A | CU.YD. | STRUCTURAL EXCAVATION | | | | |
| Bid Rank | Department E | stimate | 116.000 | \$150.000 | \$17,400.00 | |
| 1 | SUNLAND AS | PHALT & CONSTRUCTION LLC | | \$175.000 | \$20,300.00 | +16.7% |
| 2 | FNF CONSTR | RUCTION, INC. | | \$100.000 | \$11,600.00 | -33.3% |
| 3 | GRANITE CO | NSTRUCTION COMPANY | | \$100.000 | \$11,600.00 | -33.3% |
| 4 | SEMA CONST | TRUCTION, INC. | | \$131.280 | \$15,228.48 | -12.5% |
| 5 | J. BANICKI C | ONSTRUCTION, INC. | | \$220.000 | \$25,520.00 | +46.7% |
| 2030506 A | CU.YD. | STRUCTURE BACKFILL | | | | |
| Bid Rank | Department E | stimate | 40.000 | \$200.000 | \$8,000.00 | |
| 1 | SUNLAND AS | PHALT & CONSTRUCTION LLC | | \$305.000 | \$12,200.00 | +52.5% |
| 2 | FNF CONSTR | RUCTION, INC. | | \$250.000 | \$10,000.00 | +25.0% |
| 3 | | NSTRUCTION COMPANY | | \$180.000 | \$7,200.00 | -10.0% |
| 4 | SEMA CONS | TRUCTION, INC. | | \$364.500 | \$14,580.00 | +82.3% |
| 5 | J. BANICKI C | ONSTRUCTION, INC. | | \$230.000 | \$9,200.00 | +15.0% |

Printed: 8/25/2025 Page 26 of 27

| Item Number | Unit of Measure Item Description | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|-------------------------------------|---------------------|-------------|-----------------|------------------------------|
| 6010002 A | CU.YD. STRUCTURAL CONCRETE (CLA | SS S) (F'C = 3,000) | | | |
| Bid Rank | Department Estimate | 88.000 | \$1,500.000 | \$132,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$1,250.000 | \$110,000.00 | -16.7% |
| 2 | FNF CONSTRUCTION, INC. | | \$1,500.000 | \$132,000.00 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$1,600.000 | \$140,800.00 | +6.7% |
| 4 | SEMA CONSTRUCTION, INC. | | \$1,611.830 | \$141,841.04 | +7.5% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$2,600.000 | \$228,800.00 | +73.3% |
| 6050002 A | LB. REINFORCING STEEL | | | | |
| Bid Rank | Department Estimate | 11,138.000 | \$2.000 | \$22,276.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$4.000 | \$44,552.00 | +100.0% |
| 2 | FNF CONSTRUCTION, INC. | | \$2.000 | \$22,276.00 | +0.0% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$2.100 | \$23,389.80 | +5.0% |
| 4 | SEMA CONSTRUCTION, INC. | | \$2.180 | \$24,280.84 | +9.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$2.500 | \$27,845.00 | +25.0% |
| 6050101 A | EACH PLACE DOWELS | | | | |
| Bid Rank | Department Estimate | 18.000 | \$80.000 | \$1,440.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$105.000 | \$1,890.00 | +31.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$210.000 | \$3,780.00 | +162.5% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$54.000 | \$972.00 | -32.5% |
| 4 | SEMA CONSTRUCTION, INC. | | \$122.740 | \$2,209.32 | +53.4% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$325.000 | \$5,850.00 | +306.3% |
| 2020009 B | CU.YD. REMOVAL OF STRUCTURAL CO | NCRETE | | | |
| Bid Rank | Department Estimate | 29.000 | \$700.000 | \$20,300.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$1,500.000 | \$43,500.00 | +114.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$1,250.000 | \$36,250.00 | +78.6% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$600.000 | \$17,400.00 | -14.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$601.930 | \$17,455.97 | -14.0% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$1,600.000 | \$46,400.00 | +128.6% |
| 2030501 B | CU.YD. STRUCTURAL EXCAVATION | | | | |
| Bid Rank | Department Estimate | 68.000 | \$150.000 | \$10,200.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$145.000 | \$9,860.00 | -3.3% |
| 2 | FNF CONSTRUCTION, INC. | | \$100.000 | \$6,800.00 | -33.3% |
| 3 | GRANITE CONSTRUCTION COMPANY | | \$100.000 | \$6,800.00 | -33.3% |
| 4 | SEMA CONSTRUCTION, INC. | | \$223.950 | \$15,228.60 | +49.3% |
| 5 | J. BANICKI CONSTRUCTION, INC. | | \$275.000 | \$18,700.00 | +83.3% |
| 2030506 B | CU.YD. STRUCTURE BACKFILL | | | | |
| Bid Rank | Department Estimate | 40.000 | \$200.000 | \$8,000.00 | |
| 1 | SUNLAND ASPHALT & CONSTRUCTION LLC | | \$305.000 | \$12,200.00 | +52.5% |
| 2 | FNF CONSTRUCTION, INC. | | \$250.000 | \$10,000.00 | +25.0% |

Printed: 8/25/2025 Page 27 of 27

| ltem Number | | Unit of Measure Item Description | | Quantity | Unit Price | Extended Amount | Compared To Dept Estimate |
|----------------|---|----------------------------------|----------------------------|------------------|-------------|-----------------|------------------------------|
| 2030506 | В | CU.YD. | STRUCTURE BACKFILL | <u> </u> | | | |
| Bid Rank | | Departmen | t Estimate | 40.000 | \$200.000 | \$8,000.00 | |
| 3 | | GRANITE (| CONSTRUCTION COMPANY | | \$180.000 | \$7,200.00 | -10.0% |
| 4 | | SEMA CON | ISTRUCTION, INC. | | \$194.280 | \$7,771.20 | -2.9% |
| 5 | | J. BANICKI | CONSTRUCTION, INC. | | \$225.000 | \$9,000.00 | +12.5% |
| 6010002 | В | CU.YD. | STRUCTURAL CONCRETE (CLASS | S) (F'C = 3,000) | | | |
| Bid Rank | | Departmen | t Estimate | 48.000 | \$1,500.000 | \$72,000.00 | |
| 1 | | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$1,350.000 | \$64,800.00 | -10.0% |
| 2 | | FNF CONS | TRUCTION, INC. | | \$1,750.000 | \$84,000.00 | +16.7% |
| 3 | | GRANITE (| CONSTRUCTION COMPANY | | \$1,600.000 | \$76,800.00 | +6.7% |
| 4 | | SEMA CON | ISTRUCTION, INC. | | \$2,074.100 | \$99,556.80 | +38.3% |
| 5 | | J. BANICKI | CONSTRUCTION, INC. | | \$3,300.000 | \$158,400.00 | +120.0% |
| 6050002 | В | LB. | REINFORCING STEEL | | | | |
| Bid Rank | | Departmen | t Estimate | 5,115.000 | \$2.000 | \$10,230.00 | |
| 1 | | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$4.000 | \$20,460.00 | +100.0% |
| 2 | | FNF CONS | TRUCTION, INC. | | \$2.000 | \$10,230.00 | +0.0% |
| 3 | | GRANITE (| CONSTRUCTION COMPANY | | \$2.100 | \$10,741.50 | +5.0% |
| 4 | | SEMA CON | ISTRUCTION, INC. | | \$2.180 | \$11,150.70 | +9.0% |
| 5 | | J. BANICKI | CONSTRUCTION, INC. | | \$2.750 | \$14,066.25 | +37.5% |
| 6050101 | В | EACH | PLACE DOWELS | | | | |
| Bid Rank | | Departmen | t Estimate | 10.000 | \$80.000 | \$800.00 | |
| 1 | | SUNLAND | ASPHALT & CONSTRUCTION LLC | | \$105.000 | \$1,050.00 | +31.3% |
| 2 | | FNF CONS | TRUCTION, INC. | | \$210.000 | \$2,100.00 | +162.5% |
| 3 | | GRANITE (| CONSTRUCTION COMPANY | | \$54.000 | \$540.00 | -32.5% |
| 4 | | SEMA CON | ISTRUCTION, INC. | | \$122.740 | \$1,227.40 | +53.4% |
| 5 | | J. BANICKI | CONSTRUCTION, INC. | | \$550.000 | \$5,500.00 | +587.5% |